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PART – I / ^mJ - 1 

 

1.   Which of the following statements are correct? 

 1) The Central Government has set the inflation 

target (Consumer Price Index) to be 4% for the 

period from Aug. 2, 2016 to March 31, 2021 in 

consultation with the reserve  bank. 

 2) The upper tolerance limit for inflation is 7% and 

the lower tolerance limit is 3%.     
 (1) Both the statements are true. 

 (2) Statement 1 is correct and 2 is incorrect. 

 (3) Statement 1 is incorrect and 2 is correct. 

 (4) There is no such inflation targeting by the 

 Central Government or by the Reserve Bank. 

1. Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?  

 1) H|$Ð gaH$maZo MbZ dmT>rMo bú¶ [aPìh© ~±Ho$À¶m 
 gëë¶mZwgma (J«mhH$ qH$‘V {ZX}em§H$) 2 Am°JñQ> 2016 

 Vo 31 ‘mM© 2021 øm H$mbmdYrgmR>r 4% BVHo$ R>odbo Amho. 
  2) øm bú¶mMr CƒV‘ J«mø ‘¶m©Xm 7% AgyZ {ZåZ ‘¶m©Xm 

 3% Amho. 
 (1) XmoÝhr {dYmZo ¶mo½¶ AmhoV. 

 (2) {dYmZ 1 ~amo~a AgyZ {dYmZ 2 MyH$ Amho. 

 (3) {dYmZ 1 MyH$ Amho Am{U {dYmZ 2 ~amo~a. 
 (4) H|$Ð gaH$ma Am{U [aPìh© ~±H$ Aem H$moUË¶mhr àH$maMo 

 MbZ dmT>rbm AZwgê$Z bú¶ R>odV ZmhrV. 
2. What was the Arghatta? 

 (1) A machine to break forts. 

 (2) An irrigation canal. 

 (3) A device to lift water.  

 (4) A type of cloth. 

2. ‘AaKQ²>Q>m’ åhUOo H$m¶? 

 (1) {H$„o ’$moS>Ê¶mMo ¶§Ì 
 (2) nmUrnwadR>m H$aUmam Zmbm 
 (3) nmUr CngÊ¶mMo ¶§Ì 
 (4) H$mnS>mMm EH$ àH$ma 
3.   Who introduced the Right to information 

(Amendment) Bill 2019 in Loksabha? 

 A) Ravi Shankar Prasad  B) Manoj Sinha  

 C) Dr. Jitendra Singh D) Sudheer Bhargava 

 (1) B (2) D (3) A (4) C 

3. bmoH$g^oV ‘m{hVr A{YH$ma H$m¶Xm XþéñVr {dYo¶H$ 2019 
H$moUr ‘m§S>bo?   

 A) a{d e§H$a àgmX B) ‘ZmoO {gÝhm  
 C) S>m°. {OV|Ð qgJ D) gwYra ^mJ©d 

 (1) ~ (2) S> (3) A (4) H$ 
4.   Which of the following is / are the biodiversity 

hotspots in India? 

 A) The eastern  Ghat 

 B) Eastern Himalayas 

 C) Andaman and Nicobar  Island 

 D) The western Ghat 

 (1) B and D  

 (2) D only 

 (3) A and D  

 (4) B and C 

4. Imbrbn¡H$s H$moUVo / Vr ^maVmVrb O¡d{d{dYVoMo / Mr 
‘‘©ñWi / io Amho / V? 

 A) nyd© KmQ>  

 B) nyd© {h‘mb¶ 
 C) A§X‘mZ Am{U {ZH$mo~ma ~oQ>o  
 D) n{ü‘ KmQ> 
 (1) B Am{U D (2) ’$³V D 

 (3) A Am{U D (4) B Am{U C 

5.   Which of the following current event/s is/are true? 

 A) NITI Aayog, DRDO and Atal Innovation Mission 

(AIM) Jointly launched Youth Co-lab which aims 

at accelerating social entrepreneurship and 

innovation in young India. 

 B) Article 19 of Constitution of India confers the 

media the right to broadcast their news. 

 C) Prime Minister Narendra Modi inaugurated  

Swachh Bharat Diwas 2019 on the occassion of 

Mahatma Gandhi 150 birth anniversary in New 

Delhi.    

   (1) only A (2) only B (3) A and B (4) B and C 

5. Imbrbn¡H$s H$moUVr/Ë¶m KQ>Zm Iar/è¶m Amho/V? 

 A) Zr{V Am¶moJ, S>r Ama S>r Amo Am{U AQ>b Zm{dÝ¶ CnH«$‘ 
(AIM) Zo g§¶w³VnUo ¶wdm gaH$mar à¶moJemim gwê$ Ho$br 
Á¶mMm CÔoe gm‘m{OH$ CÚmoOH$Vm Am{U Zm{dÝ¶nyU© ¶§J 
B§{S>¶mbm JVr XoUo hm Amho. 

 B) ^maVr¶ amÁ¶KQ>ZoÀ¶m AZwÀN>oX 19 ‘Ü¶o ‘mÜ¶‘m§Zm Ë¶m§À¶m 
~mVå¶m àgm[aV H$aÊ¶mMm A{YH$ma XoÊ¶mV Ambm Amho.  

 C) n§VàYmZ Za|Ð ‘moXr ¶m§Zr Zdr {XëbrV ‘hmË‘m Jm§Yr ¶m§À¶m 
150 ì¶m O¶§Vr{Z{‘Îm ñdÀN> ^maV {Xdg 2019 Mo 
CX²KmQ>Z Ho$bo. 

   (1) ’$³V A (2) ’$³V B (3) A Am{U B (4) B Am{U C 

6.   Which of the following statements is correct?  

 A) Marwad plateau lie to  the west of Aravallis. 

    B) Mewar plateau is located to the south of Arawallis. 

 (1) statement A is correct but B is wrong. 

 (2) Statement B is correct but A is wrong. 

 (3) Both the statements are wrong. 

 (4) Both the statements are correct. 

6. Imbrbn¡H$s AMyH$ {dYmZ H$moUVo? 
 A) ‘madmS> nR>ma AadbrÀ¶m n{ü‘og Amho. 
 B) ‘odmS> nR>ma ho AadbrÀ¶m X{jUog Amho. 
 (1) A {dYmZ AMyH$ Amho Va {dYmZ B MwH$sMo Amho. 
 (2) B ho {dYmZ ~amo~a AgyZ A ho [dYmZ MwH$sMo Amho. 
 (3) XmoÝhr {dYmZo MwH$sMr AmhoV. 
 (4) XmoÝhr {dYmZo ~amo~a AmhoV. 
7.  In case of coarse cereals in India ........ 

 (1) The area and its yield per hector have reduced. 

  (2) The area has increased but yield has decreased. 

 (3) The area has reduced but yield has 

 increased. 

 (4) There are fluctuation in both area and yield. 

7. ^maVmVrb V¥UYmÝ¶mÀ¶m g§X^m©V ....... 
 (1) joÌ Am{U àVr ho³Q>a CËnÝZ H$‘r Pmbo Amho. 
 (2) joÌ dmT>bo Amho nU CËnÝZ H$‘r Pmbo Amho. 

 (3) joÌ H$‘r Pmbo Amho nU CËnÝZ dmT>bo Amho. 
 (4) XmoÝhr joÌ Am{U CËnÞ ømV MT> CVma AmhoV. 
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8. Which of the following commodities constituted the 

main item of exports in Mughal India? 

 (1) Opium and Indigo (2) Cotton and silk fabrics 

 (3) Bullion and horses (4) Sugar and saltpetre 

8. ‘wKb H$mbrZ ^maVmV Imbrbn¡H$s H$moUË¶m dñVy§Mr {Z¶m©V 
OmñV à‘mUmV hmoV Ago? 

 (1) A’y$ Am{U Zri (2) H$mnyg d aoer‘ H$mnS> 
 (3) ~¡b d KmoS>o (4) gmIa d JZnmdS>a 
9.   Who was the interim president of the first session of 

Constituent Assembly? 

 A) Dr. Sacchidanand Sinha  

 B) Dr. Rajendra Prasad 

 C) Dr. Babasaheb Ambedkar  

 D) C. Rajgopalchari 

 (1) D (2) C (3) B (4) A 

9. KQ>Zm g{‘VrÀ¶m n{hë¶m A{YdoeZmMo h§Jm‘r AÜ¶j H$moU hmoVo?  
 A) S>m°. gpÀMXmZ§X {gÝhm  ~) S>m°. amO|Ð àgmX 
 H$) S>m°. ~m~mgmho~ Am§~oS>H$a S>) gr. amOJmonmbMmar 
 (1) S> (2) H$ (3) ~ (4) A 
10.   Which of the following statements are wrong? 

 A) Turpentine oil is obtained from the wood of 

 Cedrous. 

    B) Nitroglycerine can be used as an explosive. 

  C) Morphine is an alkaloid. 

 D) The boiling point of water is 100 K. 

 (1) A and D (2) B and C 

 (3) A and B (4) C and D 

10. Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV?  
 A) Q>n]Q>mBZ Vob XodXmaÀ¶m bmH$S>mnmgyZ {‘iVo. 
  B) Zm¶Q´>mop½bgarZMm Cn¶moJ ñ’$moQ>H$ åhUyZ Ho$bm OmD$ eH$Vmo. 
 C) ‘m°{’©$Z ho EH$ AëH$bm°B©S> Amho. 
 D) nmÊ¶mMm CH$i q~Xÿ 100 K Amho. 
 (1) A Am{U D (2) B Am{U C 

 (3) A Am{U B (4) C Am{U D 
11.   Which of the following statements are correct? 

 A) International snow Leopard Day is observed 

 annually on October 23.   

 B) International stuttering Awareness day is observed 

 on October 22 every year. 

 C) World Food Day is celebrated every year on 

 October 16.   

 (1) A and B (2) B and C 

 (3) A and C (4) All are correct  

11. Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV? 
 A) Am§Vaamï´>r¶ {h‘ {~~ù¶mMm {XZ Xadfu Am°³Q>mo~a 23 amoOr 

 gmOam Ho$bm OmVmo. 
 B) Am§Vaamï´>r¶ VmoVaonUm OmJê$H$Vm {XZ Xadfu Am°³Q>mo~a 22 

 bm nmibm OmVmo.  
 C) Am°³Q>mo~a 16 amoOr Xadfu OmJ{VH$ AÞ{XZ gmOam Ho$bm 

 OmVmo.  
 (1) A Am{U B (2) B Am{U C 

 (3) A Am{U C (4) gd© ~amo~a AmhoV. 
12.   Which of the following is a wrong pair? 

 (1) Bendibu - Western Australia  

 (2) Maori - New Zealand  

 (3) Yakut - Finland  

 (4) Kikuyu -  Kenya  

 

 

12. Imbrbn¡H$s MwH$sMr OmoS>r H$moUVr Amho? 
 (1) ~|{X~y - npíM‘ Am°ñQ´>o{b¶m 
 (2) ‘mAmoar - Ý¶y{Pb±S> 
 (3) ¶mHw$V - {’$Zb±S> 
 (4) {H$Hw$¶w - Ho${Z¶m 
13.   Which of the following is true with respect to national 

income? 

 1) It is a sum total of final goods and services in a 

 particular year. 

 2) It includes the incomes of foreigners staying in 

 India. 

 3) Gross national income excludes depreciation. 

 4) Net National income excludes depreciation. 

 (1) 1, 2, 3  (2) 1, 2, 4 

 (3) 2, 3, 4  (4) All of the above 

13. amï´>r¶ CËnÝZm~m~V Imbrbn¡H$s H$m¶ Iao Amho? 
 1) amï´>r¶ CËnÞ ho EH$m dfm©Vrb gd© dñVy Am{U godm§À¶m 

 A§{V‘ ‘wë¶m§Mr ~oarO AgVo. 
    2) amï´>r¶ CËnÝZm‘Ü¶o ^maVmV amhUmè¶m naXoer ZmJ[aH$m§Mo 

 CËnÝZ A§V^y©V Ho$bo OmVo. 
 3) ñWyb amḯ>r¶ CËnÝZmV Kgmam dOm Ho$bm OmV Zmhr. 
 4) {Zìdi amï´>r¶ CËnÞmV Kgmam dOm Ho$bm OmV Zmhr. 
 (1) 1, 2, 3  (2) 1, 2, 4 

 (3) 2, 3, 4   (4) darb gd© 
14. Which amongst the following Indian rulers was a 

contemporary of Akbar? 

 (1) Rani Durgawati (2) Ahilya Bai 

 (3) Martand Verma (4) Sawai Jai Singh 

14. Imbrbn¡H$s H$moUVo ^maVr¶ amÁ¶H$V} AH$~amMo g‘H$mbrZ 
hmoVo? 

 (1) amUr XþJm©dVr (2) A{hë¶m~mB© 
 (3) ‘mVªS> d‘m© (4) gdmB© O¶qgJ 
15.   Match the following. 

A) Untouchability Offences Act i) Rajeev 

Gandhi 

B) Protection of Civil Rights Act ii) Indira 

Gandhi 

C) Scheduled Caste and Scheduled 

Tribes (Prevention of Atrocities) 
iii) Pandit 

Nehru 

  iv) V. P. Singh 

 (1) A – i B – iii C – iv 

 (2) A – iii B – ii C – i 

 (3) A – iii B – ii C – iv 

 (4) A – iv B – iii C – ii 

15. OmoS>çm bmdm.  

A) Añn¥í¶Vm (AnamY) H$m¶Xm i) amOrd Jm§Yr 

~) ZmJar A{YH$ma g§ajU H$m¶Xm ii) B§{Xam Jm§Yr 

H$) ¡AZw. OmVr Am{U AZw. O‘mVr 
(AË¶mMma à{V~§YH$) H$m¶Xm 

iii) n§{S>V Zohê$ 

  iv) ìhr. nr. qgJ 

 (1) A – i ~ – iii H$ – iv 

 (2) A – iii ~ – ii H$ – i 

 (3) A – iii ~ – ii H$ – iv 

 (4) A – iv ~ – iii H$ – ii 
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16.   Which of the following statements are wrong? 

 A) Fe
3+

 ion is smaller in size than Fe
2+

. 

 B) On losing an election potassium atom will acquire 

 an electronic configuration of Neon.  

 C) The compound used in breath analyzer for 

 detecting consumption of drink by driver is 

 potassium dichromate. 

 D) Testosterone  is a hormone that contains iodine 

 (1) B and C (2) A and C 

 (3) B and D (4) A and B 

16. Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV?  
 A) Fe

3+
 Am¶Z hm Fe

2+
 Am¶Znojm AmH$mamZo bhmZ AgVmo. 

  B) nmoQ>°{e¶‘ AUy EH$ Bbo³Q´>m°Z {Xë¶mZ§Va {ZAm°ZmMo Bbo³Q́>m°Z 
 g§énU YmaU H$aVmo. 

 C) MmbH$mZo Ano¶nmZ Ho$bo Agë¶mg Vo AmoiIÊ¶mgmR>r 
 dmnaÊ¶mV ¶oUmè¶m ídmg {díbofH$m‘Ü¶o nmoQ>°{e¶‘ S>m¶H«$mo‘oQ> 
 ho g§¶wJ dmnabo OmVo. 

 D) Q>oñQ>moñQ>oamoZ øm g§àoaH$m‘Ü¶o Am¶mo{S>Z AgVo. 
 (1) B Am{U C (2) A Am{U C 

 (3) B Am{U D (4) A Am{U B 

17.   Identify the person. 

 A) He is born and brought up in Bihar, however, he is 

1976 batch Kerala cadre IPS officer.  

 B) He was Director of Intelligence Bureau which is 

the highest post in IPS. 

 C) He was appointed as interlocutor by government of 

India for the state of Jammu and Kashmir. 

 D) He has been appointed recently as the new 

Administrator of Lakshadweep.    

 (1) Anirudh Singh  (2) Dineshwar Sharma 

  (3) Sunil Mahajan (4) Ramesh Singh  

17. ì¶p³V AmoiIm. 
 A) Ë¶m§Mm OÝ‘ Am{U bhmZnU {~hma‘Ü¶o Pmbo nU Vo 1976 

~±MMo Ho$ai Ho$S>aMo Am¶nrEg A{YH$mar AmhoV. 
 B) Vo B§Q>o{bOÝg ã¶wamoMo g§MmbH$ hmoVo Oo ^maVr¶ nmo{bg 

godoVrb gdm}ÀM nX Amho. 
 C) Oå‘y Am{U H$mpí‘a amÁ¶mgmR>r ^maV gaH$maV’}$ dmVm©ha 

åhUyZ Ë¶m§Mr Zo‘UyH$ Pmbr hmoVr. 
 D) bj{ÛnMo Zdo àemgH$ åhUyZ ZwH$VrM Ë¶m§Mr Zo‘UyH$ Pmbr 

Amho. 
 (1) A{ZéÕ qgJ (2) {XZoída e‘m© 
 (3) gw{Zb ‘hmOZ (4) a‘oe qgJ 
18.   Zooming refers to ......... 

 (1) an activity which is related to the tribes.  

 (2) noise made by aquatic animals. 

 (3) it is a hunting by traditional weapons.  

 (4) it is related with mining activity.  

18. Pyq‘JMm g§X^© .............. Amho.  
 (1) Am{XdmgtÀ¶m ì¶dgm¶mer g§~§Y 
 (2) ObMam§Zr H$mT>bobm AmdmO 

 (3) nma§nm[aH$ hË¶mam§Zr Ho$bobr {eH$ma 
 (4) ImUH$m‘ ì¶dgm¶mer g§~§{YV 
19.   Income inequality is shown with the help of   

 (1) Indifference curve. 

 (2) Production possibility curve. 

 (3) Laffer curve. 

  (4) Lorenz curve. 

 

19. CËnÝZ {df‘Vm H$emÀ¶m AmYmao XmIdbr OmVo?  
 (1) g‘d¥Îmr dH« (2) CËnmXZ e³¶Vm dH«$ 

 (3) bm’$a dH«$ (4) bmoa|P dH«$ 
20. Which among the following Sultans called himself 

Naib – i – Khudai? 

 (1) Alauddin Khilji 

 (2) Balban 

 (3) Ghiyasuddhin Tughlaq 

 (4) Iltutmish 

20. Imbrbn¡H$s H$moUVm gwëVmZ ñdV:bm ‘ZmB©~-B©-IwXmB©’ åhUdV 
Ago? 

 (1) A„mC{ÔZ {IbOr (2) ~ë~Z 

 (3) {K¶mgw{ÔZ VwKbH$ (4) BëV‘e 
21.   Which of the following Acts were passed in the joint 

session of Indian Parliament? 

 A) Dowry Prohibition Bill 

   B) Banking Service Commission Repeal Bill 

  C) Prevention of Terrorist Activities Act  

 (1) Only A and C (2) Only B and C 

 (3) All of them (4) None of them 

21. ^maVmÀ¶m g§gXoZo g§¶w³V ~¡R>H$m KoD$Z Imbrbn¡H$s H$moUVo 
H$m¶Xo Ho$bo AmhoV?  

 A) hþ§S>m à{V~§YH$ H$m¶Xm 
 ~) ~±qH$J gpìh©g H${‘eZ [anrb {~b 
 H$) {àìho§eZ Am°’$ Q>oa[añQ> A°p³Q>pìhQ>r A°³Q> 
 (1) A Am{U H$ (2) ~ Am{U H$ 
 (3) darb gd©  (4) ¶mn¡H$s H$moUVmhr Zmhr. 
22.   Drying vegetable oils like linseed, soya bean, 

safflower etc. are very important as solvents in the 

paint and varnish industries. Which of the following 

could be the possible reasons? 

 A) They have a very high content of saturated fatty 

 acids.  

 B) They have a very high content of unsaturated fatty 

 acids. 

 C) The readily absorb hydrogen on exposure to air. 

 D) They readily absorb nitrogen  from the atmosphere 

 when exposed to air. 

 (1) A and D (2) B and D 

 (3) A and C (4) only B 

22. Odg, gmo¶m~rZ, H$aS>B© B. dZñnVr Vobo dmi{dUo ho a§J Am{U 
nm°{be CÚmoJmV ’$ma ‘hÎdmMo AgVo. nwT>rbn¡H$s H$moUVo / Vr 
g§^mì¶ H$maUo Agy eH$VmV? 

 A) Ë¶m§À¶mV g§V¥ßV pñZ½Ymåbm§Mo à‘mU Iyn OmñV à‘mUmV 
 AgVo. 

 B) Ë¶m§À¶mV Ag§V¥ßV pñZ½Ymåbm§Mo à‘mU Iyn OmñV à‘mUmV 
 AgVo. 

 C) Vo hdoÀ¶m g§nH$m©V AgVmZm ghOnUo hm¶S´>moOZ emofyZ 
 KoVmV. 

 D) Vo hdoÀ¶m g§nH$m©V AgVmZm ghOnUo dmVmdaUmVrb Z¡Q́>moOZ 
 emofyZ KoVmV. 

 (1) A Am{U D (2) B Am{U D 

 (3) A Am{U C (4) Ho$di B 

23.   Which of the following two films have won Asian 

Academy Creative Awards? 

 A) Uri   B) Gully Boy  

 C) Raazi  D) Delhi Crime  

 (1) B and D (2) A and B 

 (3) A and C (4) B and C 
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23. Imbrbn¡H$s H$moUË¶m XmoZ {MÌnQ>m§Zr E{e¶Z A°H°$S>‘r {H«$E{Q>ìh 
A°dm°S>© qOH$bo AmhoV? 

 A) Car  B) Jbr ~m°¶ C) amPr D) Xoëhr H«$mB©‘ 
 (1) B Am{U D (2) A Am{U B 

 (3) A Am{U C (4) B Am{U C 

24. Read the two sentences and find out the correct 

alternative.   

 A) Anthracite is the best quality of coal and is found 

 in Jammu and Kashmir area. 

   B) Generally anthracite is not found in Gondawana 

 coal fields. 

 (1) Statement A is correct and B is wrong. 

 (2) Statement B is correct but A is wrong. 

 (3) Both the statements A and B are correct. 

 (4) both the statements A and B are wrong. 

24. nwT>rb {dYmZmg§~§{YV AMyH$ n¶m©¶ emoYm.  
 A) A±W«mgmB©Q> hm CÎm‘ àVrMm H$moigm AgyZ Vmo Oå‘y H$mí‘ra 

^mJmV gmnS>Vmo. 
 B) gd©gmYmaUnUo A±W«mgmB©Q> àH$maMm XJS>r H$moigm Jm|S>dZm 

^y‘r‘Ü¶o gmnS>V Zmhr. 
 (1) {dYmZ A ~amo~a AgyZ {dYmZ B ho MwH$sMo Amho. 
 (2) {dYmZ B ~amo~a AgyZ A ho MwH$sMo Amho. 
 (3) A Am{U B XmoÝhr [dYmZo ~amo~a AmhoV. 
 (4) {dYmZo A Am{U B XmoÝhr MwH$sMr AmhoV. 
25.   As per Economic Survey of 2018-19, what is correct 

of the following?  

 1) There will be increase in the population in the age 

 group 0 – 19. 

 2) India is expected to experience slowdown  in 

 population growth rate in the next two 

 decades. 

 3) Some states will start to experience population 

 aging by 2030. 

 (1) 1 and 2  (2) 2 and 3 

 (3) All are correct (4) All are incorrect 

25. 2018-19  À¶m Am{W©H$ nmhUr AhdmbmZwgma Imbrbn¡H$s H$m¶ 
~amo~a Amho? 

 1) 0-19 øm d¶moJQ>mVrb bmoH$g§»¶o‘Ü¶o dmT> hmoB©b. 
 2) ^maVmÀ¶m bmoH$g§»¶m d¥X²Yr Xam‘Ü¶o nwT>rb XmoZ XeH$m§‘Ü¶o 

KQ Ano{jV Amho.  
 3) H$mhr amÁ¶m§‘Ü¶o 2030 n¶ªV bmoH$g§»¶m d¥X²Y hmoÊ¶mg 

gwadmV hmoB©b. 
 (1) 1 Am{U 2 (2) 2 Am{U 3 

 (3) gd© ¶mo½¶ AmhoV. (4) gd© A¶mo½¶ AmhoV. 
26. Who was ruling the Chola Kingdom at the time of 

Mahammad Ghazni’s expedition of Somnath? 

 (1) Uttama Chola (2) Rajaraja I 

 (3) Rajendra I (4) Kulotenga 

26. ‘hå‘X JPZrÀ¶m gmo‘ZmWdarb ñdmarÀ¶mdoir Mmobm§da H$moUmMo 
amÁ¶ hmoVo? 

 (1) CÎm‘ Mmob (2) amOamOm I 

 (3) amO|Ð I  (4) Hw$bmoV|J 
27.   Arrange the presidents in ascending order of their 

tenure. 

 a) Dr. Shankar Dayal Sharma       b) Gyani Zailsingh  

 c) R. Venkat Raman       d) Neelam Sanjiv Reddy 

 (1) d – b – c – a (2) d – c – a – b 

 (3) d – a – c – b (4) d – a – b – c 

 

27. amï´>nVtMm H$m¶©H$mbmZwgma MT>VmH«$‘ bmdm.  
 A) S>m°. e§H$a X¶mi e‘m© ~) ½¶mZr P¡bqgh 
 H$) Ama. d|H$Q>a‘U S>) Zrb‘ g§Ord aoS²>S>r 

 (1) S> - ~ - H$ - A (2) S> - H$ - A - ~ 

 (3) S> - A - H$ - ~ (4) S> - A - ~ - H$ 
28.   Biologists study viruses although they are not 

considered as living organisms. Which of the 

following is / are the possible reasons? 

 A) They are causative agents of many of the dreaded 

 diseases of plants, animals including humans. 

    B) They serve as a useful tool in biotechnological 

 research. 

   C) They are the source of some useful antibiotics.  

  D) No other branches  study viruses. 

 (1) B and C (2) A and D 

 (3) C and D (4) A and B 

28. {dfmUy§Zm Oar gOrd ‘mZV Zgbo Var, Ordemók Ë¶m§Mm 
Aä¶mg H$aVmV. Imbrbn¡H$s H$moUVo / Vr H$maU / Uo Agy 
eH$Vrb?  

 A) Vo dZñnVr, ‘mZdmg§h àmÊ¶m§À¶m {^VrXm¶H$ amoJm§Mo H$maH$ 
 AmhoV. 

 B) O¡dV§ÌkmZmÀ¶m g§emoYZmV Vo Cn¶w³V gmYZ åhUyZ H$m‘ 
 H$aVmV. 

 C) Vo H$mhr Cn¶w³V à{VO¡{dH$m§Mo ómoV AmhoV. 
 D) BVa H$moUË¶mhr emIm {dfmUy§Mm Aä¶mg H$aV ZmhrV. 
 (1) B Am{U C (2) A Am{U D 

 (3) C Am{U D (4) A Am{U B 

29.   Pace bowler A playing T 20 I for country B has given 

75 runs in four overs against country C. 

 Identify A, B and C.  

 (1) A - Tunahan Turan B - Turkastan C - Czech 

 Republic   

 (2) A - Kagiso Rabada  B - South Africa C - India 

 (3) A - Kasun Rajitha B - Sri Lanka  C - Australia 

  (4) A - Jasprit Bumrah B - India C - South Africa  

29. doJdmZ Jmob§XmO A Zo B ¶m XoemH$Sy>Z C ¶m Xoem{déÕ Q>r 20 
Am¶ IoiVmZm Mma fQ>H$mV 75 Ymdm {Xë¶m. A, B Am{U C 
AmoiIm. 

 (1) A - VwÝhmZ VwamZ B - VwH©$ñVmZ C - PoH$ [anpãbH$    
 (2) A - H$m{Jgmo a~mS>m B - X{jU Am{’«$H$m C - ^maV 

 (3) A - H$mgwZ am{OWm B - lrb§H$m  C - Am°ñQ´>o{b¶m 
  (4) A - Og{àV ~w‘amh B - ^maV C - X{jU Am{’«$H$m 
30.   Find out odd man out for the new alluvial soils.  

 (1) Soil is dark in colour. 

 (2) When high amount of calcium it is called as 

kankar. 

 (3) These soils are found above 50 Mtrs from the 

floor level. 

 (4) Colour of the soil is pale brown. 

30. ZdrZ JmimÀ¶m ‘¥XoÀ¶m g§X^m©Vrb {dg§JV Agbobr ‘m{hVr 
emoYm. 

 (1) ‘¥XoMm a§J JS>X AgVmo. 
 (2) MwZIS>rMm A§e OmñV Agë¶mg ‘¥Xobm H§$H$a åhUVmV. 
 (3) ¶m ‘¥Xm VimnmgyZ 50 ‘rQ>a C§Mrda AmT>iVmV. 
 (4) ‘¥XoMm a§J hm {’$³H$Q> Vn{H$ar AgVmo. 
31.   As per the Economic Survey 2017– 2018 the ratio of 

gross fixed capital formation to GDP in 2017 was ...... 

 (1) 25.4 (2) 36.5 (3) 26.4 (4) 28 
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31. 2017-18 À¶m Am{W©H$ nmhUr AhdmbmZwgma 2017-18 ‘Ü¶o 
gH$b pñWa ^m§S>db g§M¶ZmMo ñWyb amḯ>r¶ CËnmXZmer Agbobo 
à‘mU ........... hmoVo.   

 (1) 25.4  (2) 36.5  

 (3) 26.4  (4) 28  

32. On which one of the following fleet, did the 1946 

Naval Revolt start ? 

 (1) I. N. S. Virat  

 (2) I. N. S. Vikrant 

 (3) I. N. S. Crown  

 (4) I. N. S. Talwar 

32. Imbrbn¡H$s H$moUË¶m OhmOmda 1946 Mo Zm¡Xb ~§S> gwê$ Pmbo? 

 (1) I. N. S. {damQ> (2) I. N. S. {dH«$m§V 

 (3) I. N. S. H«$mD$Z (4) I. N. S. Vbdma 

33.   Arrest of politicians in economic offences turns 

spotlight of India’s ............... 

 (1) Electoral mismanagement  

 (2) Political funding system 

 (3) Political Management system  

 (4) Electoral activism 

33. Am{W©H$ J¡aì¶dhmam§‘wio amOH$maUr ZoË¶m§Mo AQ>H$gÌ ^maVmVrb 
..................... ¶m ~m~rda àH$me nmS>Vo.  

 (1) {ZdS>UwH$m§‘Yrb J¡aì¶dñWmnZ 
 (2) amOH$s¶ {ZYr C^maÊ¶mMr nÕV 

 (3) amOH$s¶ ì¶dñWmnZ nÕVr 
 (4) {ZdS>UwH$m§‘Yrb g{H«$¶Vm 
34.   A device used for converting AC into DC is called as 

.............. 

 (1) transformer  (2) Induction coil  

 (3) rectifier  (4) Dynamo 

34. Egr bm S>rgr‘Ü¶o énm§VarV H$aÊ¶mgmR>r dmnaboë¶m CnH$aUmbm 
.............. åhUVmV.  

 (1) amo{hÌ  (2) àoaU Jw§S>mir 
 (3) XþéñVH$  (4) S>m¶Zm‘mo 
35.   Identify the person from the following data. 

 A) He is a 1987 batch IAS offices of Odisha cadre. 

 B) He had done M. A. in Economics from Panjab 

University and MBA from U. K. 

 C) He has acquired wide experience in Industrial 

development, Financial management and Public 

finance. 

 D) He has been appointed as secretary of the 

department of investment and Public Asset 

Management (DIPAM) 

 (1) Tuhin kanta Pandey  

 (2) Anil Kumar Khachi 

 (3) Laxmi Nibas Mittal 

 (4) Radhesh Singh 

35. Imbrb ‘m{hVrdê$Z ì¶³Vr AmoiIm. 
 A) Vo 1987 À¶m Amo[agm Ho$S>aMo ^m. à. go. A{YH$mar AmhoV. 
 B) Ë¶m§Zr n§Om~ {dÚmnrR>mVyZ AW©emóm‘Ü¶o E‘. E. Ho$bo Am{U 

B§½b§S>‘YyZ E‘. ~r. E. Ho$bo Amho. 
 C) Am¡Úmo{JH$ {dH$mg, {dÎmr¶ ì¶dñWmnZ Am{U gmd©O{ZH$ {dÎm 

¶mV Ë¶m§Zr {dñV¥V AZw^d KoVbm Amho. 
 D) Ë¶m§Zm Jw§VdUyH$ Am[U gmd©O{ZH$ ì¶dñWmnZ {d^mJmMo (S>r. 

Am¶. nr. E. E‘.) g{Md åhUyZ {Z¶w³V H$aÊ¶mV Ambo Amho. 
 (1) Vw{hZ H$m§Vm nm§S>o (2) A{Zb Hw$‘ma ImMr 
 (3) bú‘r {Zdmg {‘Îmb (4) amYoe qgJ 

36.   Most flood affected Kurundwad on 4th to 12 August 

2019 is due to ........ 

 (1) Meander shaped river courses. 

 (2) Location on the confluence of Krishna and 

 Panchganga. 

 (3) Location of dam near Kurundwad. 

 (4) None of the above. 

36. Hw$é§XdmS>bm 4 Vo 12 Am°JñQ> 2019 bm nwamMm ‘moR>m AmKmV 
Pmbm Ë¶mMo H$maU ......... ho Amho. 

 (1) ZXrMo ZmJ‘moS>r AmH$mamMo nmÌ 
 (2) H¥$îUm Am{U n§MJ§JoÀ¶m Vramdarb Jmd 

 (3) Hw$é§XdmS>OdiM YaU Amho. 
 (4) darbn¡H$s H$moUVohr Zmhr. 
37.   As per the Economic Survey  2018-19, What is correct 

about current account of balance of payments? 

 a) There is increase in merchandise imports due to 

 increase in oil prices. 

 b) Software services account for 40% of total services 

 receipts. 

 c) Petroleum products continue to have largest share 

 in total export basket in the year 2018-19. 

   (1) All are incorrect. (2) a and c are correct. 

 (3) a and b are correct.  (4) All are correct. 

37. 2018-19 À¶m Am{W©H$ nmhUr AhdmbmZwgma ì¶dhmaVmobmÀ¶m 
Mmby ImË¶m~Ôb H$m¶ ¶mo½¶ Amho? 

 1) VobmÀ¶m dmT>Ë¶m {H$‘Vt‘wio ‘mb Am¶mVr‘Ü¶o dmT> Pmbr 
Amho. 

    2) godm§À¶m EHy$U {Z¶m©Vr‘Ü¶o gmoâQ>doAa godm§Mm dmQ>m 40% 
Amho. 

 3) EHy$U {Z¶m©Vr‘Ü¶o noQ´>mo{b¶‘ {Z¶m©VrMm dmQ>m 2018-19 ‘Ü¶o 
gdm©{YH$ Amho. 

   (1) gd© A¶mo½¶ AmhoV. (2) 1 Am{U 3 ¶mo½¶ AmhoV. 
 (3) 1 Am{U 2 ¶mo½¶ AmhoV. (4) gd© ¶mo½¶ AmhoV. 
38. Who made the following comment, ‘Our nation is like 

a tree of which the original trunk is Swarajya and its 

branches are Swadeshi and boycott.’ ? 

 (1) Lala Lajpatrai (2) Bipin Chandra Pal 

 (3) Lokmanya Tilak (4) Aurobindo Ghosh 

38. ‘Amnbm Xoe åhUOo EH$ ‘hmd¥j AgyZ Ë¶mMo ImoS> åhUOo 
ñdamÁ¶ Am{U Ë¶mÀ¶m emIm åhUOo ñdXoer d ~{hîH$ma’ Ago 
^mî¶ H$moUr Ho$bo?  

 (1) bmbm bOnVam¶ (2) {~{nZ M§Ð nmb 

 (3) bmoH$‘mÝ¶ {Q>iH$ (4) AaqdX Kmof 
39.   Directive Principles of state policy include in India’s 

constitution are positive in nature because .............. 

 A) They are justiceable means one can approach the 

 court if these are not followed. 

   B) Judiciary has the authority to declare laws 

 unconstitutional and invalid.  

 (1) Both the statement are incorrect. 

 (2) Both the statements are correct but against the 

 directive principles. 

 (3) First statement is correct but second is 

 incorrect. 

 (4) First statement is incorrect but second is 

 correct. 
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39. ^maVmÀ¶m amÁ¶KQ>Zo‘Ü¶o g‘m{dï> H$aÊ¶mV Ambobr ‘mJ©Xe©H$ 
VÎdo hr gH$mamË‘H$ ñdê$nmMr AmhoV H$maU.......... 

 A) Vr Ý¶m¶à{dï> åhUOoM Ë¶m§Mo Cëb§KZ Pmë¶mg 
 Ý¶m¶mb¶mH$S>o XmX ‘mJVm ¶oVo. 

  ~) H$m¶Xm KQ>Zm{damoYr Am{U Ad¡Y Kmo{fV H$aÊ¶mMm A{YH$ma 
 Ý¶m¶mb¶m§Zm Amho. 

 (1) XmoÝhr {dYmZo AgË¶ AmhoV. 
 (2) XmoÝhr {dYmZo gË¶ AmhoV nU Vo ‘mJ©Xe©H$ VÎdmÀ¶m 

 {damoYr Amho.  
 (3) n{hbo {dYmZ gË¶ Amho na§Vw Xþgao {dYmZ AgË¶ Amho. 
 (4) n{hbo {dYmZ AgË¶ Am{U Xþgao gË¶ Amho. 
40.   Match the following pairs 

Branch of Science Study of 

A) Mycology i) Reptiles and amphibians  

B) Otology ii) Classification of plants 

and animals  

C) Herpetology iii) Fungi 

D) Taxonomy  iv) Ear 

 (1) A – iii B – ii C – iv D – i 

 (2) A – iii B – iv C – i D – ii 

 (3) A – ii B – iv C – iii D – i 

 (4) A – i B – ii C – iii D – iv 

40. Imbrb OmoS>çm bmdm.  

[dkmZmMr emIm   Aä¶mgmMm {df¶ 

A) ‘m¶H$m°bm°Or i) g[ag¥n Am{U C^¶Ma 

B) Am°Q>mobm°Or ii) dZñnVr d àmÊ¶m§Mo dJuH$aU 

C) hn}Q>m°bm°Or iii) ~waer 

D) Q>°³gm°Zm°‘r iv) H$mZ 

 (1) A – iii B – ii C – iv D – i 

 (2) A – iii B – iv C – i D – ii 

 (3) A – ii B – iv C – iii D – i 

 (4) A – i B – ii C – iii D – iv 

41.   Uttar Pradesh is leading in sugar cane production but 

Maharashtra is number one in sugar production 

because of ........ 

 (1) short crushing season in U. P. 

 (2) sugar cane gets dried up due to non availability 

of  labour. 

 (3) sugar mills are away from sugar cane fields. 

 (4) low sucrose content in sugar cane of U. P. 

41. D$g CËnmXZmV CÎmaàXoe AJ«oga Amho nU gmIa CËnmXZmV 
‘hmamï´>mMm H«$‘m§H$ n{hbm Amho. H$maU ........   

 (1) CÎma àXoemV JirV h§Jm‘mMo H$‘r ‘{hZo 
 (2) ‘Oya Zgë¶mZo D$g dmiVmo. 
 (3) D$g CËnmXH$ joÌmnmgyZ gmIa H$maImZo Xÿa 
 (4) U. P. ‘Yrb CgmV gmIaoMo à‘mU H$‘r.  
42.   Which of the following is included in the informal 

sector? 

 1) Artisans, cottage industrialists, petty traders, tea 

 shop proprietors. 

 2) Garbage pickers, unauthorized taxi drivers, maid 

 servants 

 (1) Both 1 and 2 (2) only 1 

 (3) only 2  (4) None of the above 

 

42. Ag§KQ>rV joÌm‘Ü¶o Imbrbn¡H$s H$emMm g‘mdoe hmoVmo? 
1) H$mamJra, Hw${Q>amoÚmoJ, {H$aH$moi ì¶mnmar, Mhm {dH$Umao N>moQ>o CÚmoOH$  
2) H$MamdoMH$, AZ{YH¥$V Q>°³gr MmbH$, KaH$m‘Jma 
 (1) XmoÝhr 1 Am{U 2 (2) ’$³V 1  
 (3) ’$³V 2  (4) darbn¡H$s H$mhrhr Zmhr. 
43.   Identify the correct statements.  

A) State of Jammu and Kashmir is split into two 

union territories where J and K will have assembly 

and Ladakh without one. 

B) Home Minister announced the decision in Rajya 

Sabha which approved for granting special status 

to permanent residents. 

 (1) Both are incorrect.  (2) Both are correct. 

 (3) Only A is correct.  (4) Only B is correct. 

43. ~amo~a {dYmZ AmoiIm.   
 A) Oå‘y  Am{U H$mí‘ra amÁ¶mMo XmoZ Ho$ÝÐem{gV àXoe hmoVrb 

 Á¶mV Oå‘y H$í‘rabm {dYmZg^m Agob Am{U 
 bS>mIbm Zgob. 

 ~) J¥h‘§Í¶m§Zr amÁ¶g^oV {ZU©¶ Omhra Ho$bm Á¶m‘wio 
 H$m¶‘ñdê$nr a{hdmem§Zm {deof XOm© XoUmam R>amd g§‘V 
 Pmbm. 

 (1) XmoÝhr {dYmZo MyH$ (2) XmoÝhr {dYmZo ~amo~a 

 (3) ’$³V (A) ~amo~a (4) ’$³V (~) ~amo~a 
44.  Consider the following statements. 

 A) The oxygen liberated during photosynthesis comes 

 from water and not from carbon dioxide. 

  B) The world’s largest on shore wind farms are 

 located in U. K. 

 C) The Red Data Books published by the 

 International Union for Conservation of Nature  

 and Natural Resources (IUCN) enumerate  

 threatened species of plants and animals. 

 D) Solid graphite was used as moderator to slow 

 down the speed of neutrons in Chernobyl  plant.  

  Which of the above statements are correct? 

 (1) A, B and C (2) A, C and D 

 (3) B, C and D (4) A, B and D 

44. nwT>rb {dYmZm§Mm {dMma H$am.   
 A) àH$meg§íbofUmÀ¶m doir ‘w³V Pmbobm Am°p³gOZ H$m~©Z 

S>m¶ Am°³gmB©S>‘YyZ Zìho Va nmÊ¶mVyZ ¶oVmo. 
 B) OJmVrb gdm©V OmñV {H$ZmanÅ>rdarb ndZM³¶m ¶y. Ho$. 

‘Ü¶o AmhoV. 
 C) B§Q>aZ°eZb ¶w{Z¶Z ’$m°a H$m°ÝPìh}eZ Am°’$ ZoMa A±S> Z°Mab 

[agmog}g (IUCN) Zo àH$m{eV Ho$boë¶m aoS> S>oQ>m ~w³g‘Ü¶o 
dZñnVr Am{U àmÊ¶m§À¶m Ymo³¶mV Amboë¶m àOmVtMr JUZm 
Ho$br Jobr Amho. 

 D) MoZm}{~bÀ¶m ßb±Q>‘Ü¶o KZê$n J«°’$mBQ>Mm Cn¶moJ Ý¶yQ́>m°ÝgMr 
JVr H$‘r H$aÊ¶mgmR>r {Z¶§ÌH$ åhUyZ Ho$bm Jobm. 

 (1) A, B Am{U C (2) A, C Am{U D 

 (3) B, C Am{U D (4) A, B Am{U D 

45.   Consider the following statements. Select correct 

alternative. 

 A) Sex ratio in Sindhudurga is higher. 

  R) Males are compelled  to migrate to urban areas. 

 (1) statement A is the effect of statement R. 

 (2) statement A is correct but R is wrong. 

 (3) statement R is correct but A is wrong. 

 (4) There is no interrelationship between 

 statements A and R. 
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45. Imbrb {dYmZo nhm Am{U ¶mo½¶ n¶m©¶ {ZdS>m.  
 A) qbJ JwUmoÎma qgYwXþJ©‘Ü¶o CÀM Amho. 
 R) nwéfm§Zm ehar ^mJmH$S>o ñWbm§Va H$amdoM bmJVo. 
 (1) A {dYmZ åhUOo {dYmZ R MmM à^md Amho. 
 (2) {dYmZ A ~amo~a AgyZ R ho MyH$ Amho. 
 (3) {dYmZ R ~amo~a Amho Va A ho MyH$ Amho. 
 (4) A Am{U R {dYmZm§Mm H$mhrhr ghg§~§Y Zmhr. 
46.   Which of the following statements is true?  

 1) Absolute poverty is measured in terms of calories 

 or nutrition and it increased over a time period. 

 2) Relative poverty occurs when people do not enjoy 

 certain minimum level of living standards given by 

 the government.  

 (1) Both the statements are true. 

 (2) Statement 1 is true and 2 is false. 

 (3) Statement 2 is true and 1 is false.  

 (4) Cannot say anything about the two statements. 

46. Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho? 
 1) {Zanoj Xm[aÐç Cî‘m§H$ AWdm nmofUmÀ¶m AmYmao ‘moObo OmVo 

 Am{U Vo H$mbmZwgma dmT>bo Amho. 
 2) Ooìhm gaH$maZo gm§{JVë¶mà‘mUo bmoH$m§Zm amhUr‘mZmÀ¶m 

 ‘wb^yV JaOm nyU© H$aVm ¶oV ZgVrb Va gmnoj Xm[aÐç 
 Amho Ago åhQ>bo OmVo.  

 (1) XmoÝhr {dYmZo Iar AmhoV. 

 (2) {dYmZ 1 gË¶ Amho Am{U {dYmZ 2 AgË¶ Amho. 
 (3) {dYmZ 2 gË¶ Am{U {dYmZ 1 AgË¶ Amho. 

 (4) XmoÝhr {dYmZm§~X²Xb H$mhr gm§JVm ¶oV Zmhr. 
47.   In which of the following countries parliamentary 

system is functioning?   

 (1) Germany and Australia 

 (2) South Africa and Brazil 

 (3) Italy and Mexico 

 (4) Brazil and Japan 

47. g§gXr¶ emgZ nÕV Imbrbn¡H$s H$moUË¶m XoemV Amho?   
 (1) O‘©Zr Am{U Am°ñQ́>o{b¶m 
 (2) X[jU Am{’«$H$m Am{U ~«mPrb 

 (3) BQ>br Am{U ‘op³gH$mo 
 (4) ~«mPrb Am{U OnmZ 
48.   A) Depreciation of currency leads to fall in the price 

 of exports of a country. 

  B) Depreciation of currency can serve as stimulus to 

 the economy.  

 (1) Statement A is false and B is true  

 (2) Both the statements are false. 

 (3) Statement A is true and B is false 

 (4) Both the statements are true. 

48. A) MbZmÀ¶m Ad‘yë¶Zm‘wio XoemÀ¶m {Z¶m©VrÀ¶m {H$‘Vr‘Ü¶o 
KQ> hmoVo. 

 B)  MbZmÀ¶m Ad‘yë¶Zm‘wio AW©ì¶dñWobm àmoËgmhZ {‘iVo.   
 (1) {dYmZ A ImoQ>o Amho Am{U B Iao Amho. 
 (2) XmoÝhr {dYmZo ImoQ>r AmhoV. 
 (3) {dYmZ A Iao Amho Am{U B ImoQ>o Amho. 
 (4) XmoÝhr {dYmZo Iar AmhoV.  
49.   Identify the thinker who said “Man is born free but 

bound everywhere in chains” and who is considered 

the father of French  Revolution. 
 (1) Rousseau (2) John Stuart Mill  

 (3) John Locke (4) Jeremy Bentham  

49. “‘Zwî¶ hm OÝ‘V: ñdV§Ì Amho. na§Vw Vmo gd©Ì e¥§Ibm‘Ü¶o 
~§{XñV Amho.” Ago Á¶m {dMmad§VmZo åhQ>bo Amho, Ë¶m§Zm ’«|$M 
amÁ¶H«$m§VrMm OZH$ ‘mZVmV, Vmo {dMmad§V AmoiIm. 

 (1) égmo$  (2) Om°Z ñQw>AQ>© {‘b 
 (3) Om°Z bm°H  (4) Ooao‘r ~|W°‘ 
50.   Match the following pans. 

 A  B (States) 

P) Indigenously developed 

Robot Restaurant  

F) Kerala 

Q) Deen Dayal Upadhyay 

Panchayat Sashaktikaran 

Puraskar 

G) Madhya Predesh 

R) Spot fines for storage, sale 

and Purchase of banned 

firecrackers  

H) Odisa 

S) M. O. U. with NASSCOM 

to create more Jobs 

I) West Bengal 

 (1) P – H, Q – I, R – G, S – F 

 (2) P – F, Q – H, R – G, S – I 

 (3) P – I, Q – F, R – H, S – G 

 (4) P – H, Q – F, R – I, S – G 

50. Imbrb OmoS>çm Owidm. 
 A  B (amÁ¶) 

P) ñdXoer {dH${gV ¶§Ì‘mZd 
Cnhma J¥h 

F) Ho$ai 

Q) XrZ X¶mi CnmÜ¶m¶ n§Mm¶V 
ge³VrH$aU nwañH$ma 

G) ‘Ü¶ àXoe 

R) à{V~§{YV ’$Q>m³¶m§À¶m gmR>dU, 
{dH«$s Am{U IaoXrda OmJoda 
X§S> 

H) Amoargm 

S) A{YH$ amoOJma {Z{‘©VrgmR>r 
Z°gH$m°‘ ~amo~a gm‘§Oñ¶ H$ama 

I) npíM‘ ~§Jmb 

 (1) P – H, Q – I, R – G, S – F 

 (2) P – F, Q – H, R – G, S – I 

 (3) P – I, Q – F, R – H, S – G 

 (4) P – H, Q – F, R – I, S – G 

 

 

 

PART – II / ^mJ - 2 

 

Question nos. 51 to 53 : Read the following passage 

carefully and answer the questions given below. 

 Education is for life, not merely for a livelihood. So 

long as we are unmindful of this truth, the quality of our 

educational curriculum as well as that of our teachers and 

students is likely to remain inadequate. It is not enough for 

a society to have experts. It needs human beings who can 

think, feel and act generously, the kind of people who 

cannot be replaced by computers and robots. The great fault 

or our present age is emphasis on efficiency at the cost of 

humanity. 

51. ‘Education is for life rather than for a livelihood’, the 

author means to say that ....... 

 (1) Education is a generally useful thing in life. 

 (2) The primary purpose of education is to train 

 people to be proper human beings. 

 (3) Education is useful for earning a living. 

 (4) Education can enable one to become rich. 

Get Printed Study Notes for UPSC Exam - https://iasexamportal.com/notes

https://iasexamportal.com/ebook
https://iasexamportal.com/study-kit


9 

52. The author says that it is not enough for a society to 

have experts because ....... 

 (a) experts are egocentric. 

 (b) experts do not have an overall view of things 

 because of their being highly specialized. 

 (c) along with being efficient educated people need 

 to be sympathetic and sensitive to the needs of 

 society. 

 (d) experts are highly eccentric people. 

53. Proper human beings cannot be replaced by computers 

and robots because ....... 

 (a) computers and robots are non human. 

 (b) computers and robots react mechanically. 

 (c) only human beings can have specialised 

 knowledge. 

 (d) only proper human beings can think creatively 

 and generously. 

àíZ 51 Vo 53 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 {ejU ho Ho$di CnOr{dHo$gmR>r Zìho Va OrdZmgmR>r Amho. 
Omon¶ªV AmnU ¶m gË¶mH$S>o Xþb©j H$aV Zmhr Vmon¶ªV Am‘À¶m 
e¡j{UH$ Aä¶mgH«$‘mMr VgoM Amnë¶m {ejH$m§Mr d {dÚmÏ¶mªMr 
JwUdÎmm Anwar amhÊ¶mMr e³¶Vm Amho g‘mOmV VÁk AgUo nwaogo 
Zmhr. Oo {dMma H$ê$ eH$VmV, AZw^dy eH$VmV Am{U CXmanUo dmJy 
eH$VmV, Á¶m§Mr OmJm g§JUH$ qH$dm ¶§Ì‘mZd KoD$ eH$Uma ZmhrV 
Aem àH$maÀ¶m ‘mUgm§Mr Amdí¶H$Vm Amho. Amnë¶m gÜ¶mÀ¶m ¶wJmMm 
‘moR>m Xmof åhUOo ‘mZdVoMr qH$‘V XoD$Z H$m¶©j‘Voda ^a {Xbm OmVmo 
Amho.    
51. ‘{ejU ho OrdZmgmR>r Ho$di CnOr{dHo$gmR>r Zmhr.’ boIH$mbm 

............ Ago åhUmd¶mMo Agmdo. 
 (1) [ejU hr Am¶wî¶mVrb gm‘mÝ¶nUo Cn¶moJr Jmoï> Amho. 
 (2) {ejUmMm àmW{‘H$ CÔoe bmoH$m§Zm ¶mo½¶ ‘mUyg hmoÊ¶mgmR>r 

 à{ejU XoUo hm Amho. 
 (3) M[aVmW© {‘idÊ¶mgmR>r {ejU Cn¶w³V Amho. 
 (4) {ejU EImÚmbm lr‘§V hmoÊ¶mg gj‘ ~ZdVo.  
52. boIH$ åhUVmV H$s g‘mOmV VÁk AgUo nwaogo Zmhr H$maU 

.............. 
 (1) VÁk Ah§H$mar AgVmV. 
 (2) VÁkm§H$S>o EImÚm Jmoï>rH$S>o nmhÊ¶mMm gdmªJrU Ñï>rH$moZ 

 ZgVmo H$maU Vo ‘moR>çm à‘mUmV H$g~r AgVmV. 
 (3) H$m¶©j‘ gw{e{jV ì¶p³V§gh ghmZw ŷVrerb Am{U 

 g‘mOmÀ¶m JaOm§~X²Xb g§doXZerb AgUo XoIrb 
 Amdí¶H$ Amho. 

 (4) VÁk AË¶§V VèhodmB©H$ bmoH$ AgVmV. 
53. g§JUH$ Am{U ¶§Ì‘mZdmZo ¶mo½¶ ‘Zwî¶m§Mr OmJm KoVm ¶oUma Zmhr 

H$maU ........ 
 (1) g§JUH$ Am{U ¶§Ì‘mZd ‘mZdr ZmhrV. 
 (2) g§JUH$ Am{U ¶§Ì‘mZd ¶m§{ÌH$s nÕVrZo à{VgmX XoVmV. 
 (3) Ho$di ‘mZdmbm {d{eï> kmZ Agy eH$Vo. 
 (4) Ho$di ¶mo½¶ ‘Zwî¶ g¥OZerb Am{U CXmaVoZo {dMma H$ê$ 

 eH$VmV. 
Question nos. 54 to 56 : Read the following passage 

carefully and answer the questions given below. 

 The greatest enemy of mankind, as people have 

discovered, is not science, but war. Science merely reflects 

the social forces by which it is surrounded. If is found that 

when there is peace, science is constructive: when there is 

war, science is perverted to destructive ends. The weapons 

which science gives us do not necessarily cause war: they 

make war increasingly more terrible. Until now it has 

brought us to the doorstep of doom. Our main problem, 

therefore, is not to curb science, but to stop war to 

substitute law for force and international government for 

anarchy in the relations of one nation with another . That is 

a job in which everybody must participate, including the 

scientists. But the bomb of Hiroshima suddenly woke us up 

to the fact that we have a very little time. The hour is late 

and our work has scarcely begun. Now we are face to face 

with this urgent question - Can education and tolerance, 

understanding and creative intelligence run fast enough to 

keep us abreast with our own mounting capacity to destroy? 

That is the question which we shall have to answer one way 

or the other in this generation. Science must help us in the 

answer, but the main decision lies within ourselves. 

54. How can war be stopped ? 

 (1) science is not allowed to lead us to other 

 destruction. 

 (2) we replace force and lawlessness by law and 

 International Government. 

 (3) science is restricted to be utilised only during 

 war time. 

 (4) weapons invented by science are not used to 

 launch a war. 

55. According to the writer the main problem we are faced 

with is to ....... 

 (1) stop science from reflecting social forces. 

 (2) stop scientific activities everywhere. 

 (3) abolish war. 

 (4) prevent scientist from participating in 

 destructive activities. 

56. According to the author, the real enemy of mankind is 

not science, but war because ....... 

 (1) Science during wars is so destructive. 

 (2) Science merely invents the weapons with which 

 war is fought. 

 (3) The weapons that science invents necessarily 

 lead to war. 

 (4) The weapons invented by science do not cause 

 war, though these make it more destructive. 

àíZ H«$. 54 Vo 56. : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 bmoH$m§Zr Ago emoYbo Amho H$s ‘mZdOmVrMm gdm©V ‘moR>m eÌy 
{dkmZ Zìho Va ¶wÕ Amho. {dkmZ Ho$di Ë¶mbm doT>Umè¶m gm‘m{OH$ 
e{³V à{Vq~{~V H$aVo. Ago AmT>ibo Amho H$s Ooìhm em§VVm AgVo 
Voìhm {dkmZ aMZmË‘H$ AgVo. Ooìhm ¶wÕ AgVo Voìhm {dkmZ 
{dZmeH$mar Q>moH$mH$S>o dibobo AgVo. {dkmZmZo Or eóo AmnUmg {Xbr 
AmhoV Vr ¶wÕ H$aÊ¶mg H$maUr^yV AgÊ¶mMr JaO Zmhr. Vo ¶wÕ 
A{YH$M ^¶mZH$ ~ZdVmV. AmVmn¶ªV Ë¶m§Zr Amnë¶mbm A[aï>mÀ¶m 
Xmamnmer nmoMdbo Amho. Am‘Mr ‘w»¶ g‘ñ¶m åhUOo {dkmZmda A§Hw$e 
R>odÊ¶mMr Zmhr Va ¶wÕ Wm§~{dUo Am{U EH$m XoemMo Xþgè¶m Xoemer 
Agboë¶m g§~§YmVrb AamOH$Vm H$‘r H$aÊ¶mgmR>r Am§Vaamḯ>r¶ 
gaH$mabm n¶m©¶r H$m¶ÚmMr g³Vr H$aUo hr Amho. ho Ago H$m¶© Amho 
Á¶mV emókm§gh àË¶oH$mZo ^mJ KoVbm nm{hOo. nU {hamo{e‘mÀ¶m 
~m°å~Zo AMmZH$ Amåhmbm OmJo Ho$bo H$s Amnë¶mH$S>o ’$ma WmoS>m doi 
Amho. doioMm Cera Pmbm Amho Am{U Amnbo H$m‘ ³d{MVM gwê$ Pmbo 
Amho. AmVm Amåhr ¶m VmVS>rÀ¶m àíZmg gm‘moao AmhmoV. {ejU Am{U 
ghZerbVm, g‘OyVXmanUm Am{U g¥OZerb ~w{Õ‘Îmm Am‘À¶m 
ñdV:gh Zï> H$aÊ¶mÀ¶m dmT>Ë¶m j‘Vogh nidy eHo$b H$m? ¶m àíZmMo 
CÎma ¶m {nT>rVë¶m Amnë¶mbm H$moUË¶m Zm H$moUË¶m ‘mJm©Zo ÚmdoM 
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bmJob. CÎma XoÊ¶mgmR>r {dkmZmZo Amnë¶mbm ‘XV Ho$br nm{hOo, nU 
‘w»¶ {ZU©¶ Amnë¶mbmM ¿¶mdm bmJob. 
54. ¶wÕ H$go Wm§~dVm ¶oB©b? 
 (1) {dkmZ Amnë¶mbm {dZmemH$S>o ZoÊ¶mgmR>r ZoV¥Ëd H$aÊ¶mg 

nadmZJr XoV Zmhr. 
 (2) AmnU H$m¶Xm Am{U Am§Vaamï´>r¶ gaH$maÛmao e³Vr Am{U 

AamOH$Vm ~Xby.   
 (3) Ho$di ¶wÕmÀ¶m H$mimV {dkmZmMm Cn¶moJ H$aÊ¶mg gr{‘V 

Amho.  
 (4) {dkmZmZo emoYbobr hË¶mao ¶wÕ gwê$ H$aÊ¶mgmR>r dmnabr 

OmV ZmhrV. 
55. boIH$mÀ¶m ‘Vo Amnë¶mbm Á¶m ‘w»¶ g‘ñ¶oMm gm‘Zm H$amdm 

bmJVmo Vr åhUOo.......... 
 (1) {dkmZmg gm‘m{OH$ e³Vr à{Vq~{~V H$aÊ¶mnmgyZ 

 Wm§~{dUo. 
 (2) gd©Ì d¡km{ZH$ CnH«$‘ Wm§~{dUo. 
 (3) ¶wÕ Wm§~{dUo. 
 (4) d¡km{ZH$m§Zm {dÜd§gH$ H$m¶m©V gh^mJr hmoÊ¶mnmgyZ 

 à{V~§Y H$aUo. 
56. boIH$mÀ¶m ‘Vo ‘mZdOmVrMm Iam eÌy {dkmZ Zìho Va ¶wÕ Amho. 

H$maU ............ 
 (1) ¶wÕmXaå¶mZMo {dkmZ ho {dÜd§gH$ Amho. 
 (2) {dkmZ Ho$di eómóm§Mm emoY bmdVo Á¶mZo ¶wÕ Ho$bo 

 OmVo. 
 (3) {dkmZmZo emoYbobr eóo An[ahm¶©nUo ¶wÕmbm H$maUr ŷV 

 R>aVmV. 
 (4) {dkmZmZo emoYbobr eóo ¶wÕmbm H$maUr ŷV R>aV ZmhrV, 

 Oar Vr A{YH$ {dZmeH$mar ~Z{dVmV. 
Question nos. 57 to 59 : Read the following passage 

carefully and answer the questions given below. 

 To those who do listen, the desert speaks of things 

with an emphasis quite different from that of the shore, the 

mountain, the valley or the plains, whereas these invite 

action and suggest limitless opportunity and exhaustless 

resources, the implications and the mood of the desert are 

something different. For one thing, the desert is 

conservative, not radical. It is more likely to provide awe 

than to invite conquest. The heroism which it encourages is 

the heroism of endurance, not that of conquest. It brings a 

man up against this limitation, turns him upon himself and 

suggests values which more indulgent regions suppress. 

Sometimes it includes contemplation in men who have 

never contemplated before: And of all the answers to the 

question – what is a desert good for – ‘contemplation’ is 

perhaps the best. 

57. The desert is unique among landscapes in that it 

encourages only ....... 

 (1)  Contemplation (2) Indolence 

 (3)  Heroic Endeavor (4) Adventurous Spirit 

58. If one responds with insight to the mode of the desert, 

it evokes ....... 

 (1) the possibility of unending resources 

 (2) the desire for heroic conquest 

 (3) an inclination for deep thought 

 (4) a sense of intense revulsion 

 

 

59. The writer calls the desert conservative rather than 

radical because ....... 

 (1) it provides an environment that inspires men to 

 explore. 

 (2) it tests ones endurance. 

 (3) it offers unlimited opportunity to conquer. 

 (4) makes one gloomy. 

àíZ H«$.  57 Vo 59 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 Oo EoHy$ eH$VmV Ë¶m§À¶mgmR>r dmid§Q>, {H$Zmè¶mdarb S>m|Jami 
^mJ, Imoao qH$dm ‘¡XmZr ^mJmnojm H$mhrVar doJù¶mM Jmoï>rda ~mobV 
AgVo Am{U H$mhr H¥$Vr H$aÊ¶mg gm§JVo VgoM A‘¶m©X g§Yr Am{U Z 
g§nUmao ómoV, n[aUm‘ dmid§Q>mVrb doJirM A{Z{üVVm gy{MV H$aVo. 
EH$m Jmoï>rgmR>r dmid§Q> nwamU‘VdmXr Amho, H$Å>admXr Zmhr. {dO¶ 
Am‘§{ÌV H$aÊ¶mnojm {dñ‘¶H$maH$ AgÊ¶mMr e³¶Vm OmñV AgVo. 
Á¶m em¡¶m©bm Vo CÎmoOZ XoVo Vo åhUOo {Q>Hy$Z ahmÊ¶mMo Amho {dO¶mMo 
Zìho. Vo ‘mUgmbm øm ‘¶m©XoÀ¶m {damoYmV AmUVo,  Ë¶mbm Ë¶mÀ¶mH$S>oM 
didVo Am{U bmS> H$aUmam àXoe XS>nÊ¶mgmR>r ‘yë¶o gwM{dVo. H$Yr 
H$Yr ¶m‘Ü¶o Aem ‘mUgm§‘Yrb qMVZmMm g‘mdoe AgVmo Á¶m§Zr 
¶mnydu H$Yrhr {dMma Ho$bobm ZgVmo. Am{U dmi§dQ> H$emgmR>r Mm§Jbo 
Amho ¶m àíZmÀ¶m CÎmamMo ³d{MV gdm©V Mm§Jbo CÎma Amho 
‘qMVZmgmR>r’.$ 
57. dmid§Q> ho EH$ d¡{eîQ>çnyU© {ZgJ©{MÌ Amho H$maU Vo Ho$di 

............. àmoËgm{hV H$aVo. 
 (1) qMVZ   (2) Amig 
 (3) em¡¶©nyU© à¶mg (4) YmS>gr d¥Îmr 
58. Oa H$moUr dmid§Q>mVrb pñWVrH$S>o A§VaÑï>rZo à{VgmX {Xbm Va 

.............. CÎmo{OV hmoVmo. 
 (1) Z g§nUmè¶m g§gmYZm§Mr e³¶Vm 
  (2) em¡¶©nyU© {dO¶mMr BÀN>m 
 (3) gImob {dMmam§Mm H$b 
 (4) Vrd« ~§S>ImoarMr ^mdZm 
59. boIH$ dmid§Q>mbm H$Å>admXr Z åhUVm nwamU‘VdmXr åhUVmo 

H$maU Vo...... 
 (1) ‘mUgm§Zm AÝdofU H$aÊ¶mg ào[aV H$aUmao dmVmdaU àXmZ 

 H$aVo. 
  (2) EImÚmÀ¶m ghZe³VrMr narjm KoVo. 
 (3) qOH$Ê¶mMr A‘¶m©X g§Yr XoVo. 
 (4) EImÚmbm {IÝZ H$aVo. 
Question nos. 60 to 62 : Read the following passage 

carefully and answer the questions given below. 

 It is difficult to reconcile the ideas of different schools 

of thought on the question of education. Some people 

maintain that pupils of school should concentrate on a 

narrow range of subjects which will benefit them directly in 

their subsequent careers. Others contend that they should 

study a wide range of subjects so that they not only have 

the specialized knowledge necessary for their chosen 

careers but also sound general knowledge about the world 

they will have to work and live in. Supporters of the first 

theory state that the greatest contributions to civilization are 

made by those who are expert in their trade or profession. 

Those on the other side say that, unless they have a broad 

general education, the experts will be too narrow in their 

outlook to have sympathy with their fellows or a proper 

sense of responsibility towards humanity as a whole. 
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60. Broad general knowledge is necessary because ....... 

 (1) it broadens one's outlook. 

 (2) it teaches us about different things. 

 (3) without it no one would get a job. 

 (4) special is incomplete without it. 

61. Supporters of the first theory say that ....... 

 (1) experts have done nothing to help mankind. 

 (2) people with general knowledge are more useful 

 than experts. 

 (3) people with general knowledge have 

 contributed to civilization. 

 (4) experts have contributed most to progress in 

 the modern world. 

62. The idea of the first school of thought in the passage is 

that ....... 

 (1) students should study all the subjects they want 

 to. 

 (2) students should study a few subjects that will 

 help them in their profession. 

 (3) students should not under take any specialised 

 work. 

 (4) students should concentrate on studies. 

àíZ H«$. 60 Vo 62.  : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 [ejUmÀ¶m àíZmda doJdoJù¶m {dMmamÀ¶m n§Wm‘Ü¶o g‘oQ> H$aUo 
H$R>rU Amho. H$mhr bmoH$ Agm [dMma H$aVmV H$s embo¶ {dÚmÏ¶mªZr 
EH$m N>moQ>çm {df¶mda bj H|${ÐV Ho$bo nm{hOo Oo Ë¶m§À¶m nwT>rb 
H$ma{H$XuV WoQ> ’$m¶ÚmMo hmoB©b. BVam§Mm Agm Xmdm Amho H$s Ë¶m§Zr 
{dñV¥V {df¶m§Mm Aä¶mg Ho$bm nm{hOo OoUoH$ê$Z Ë¶m§Zm Ho$di Ë¶m§À¶m 
{ZdS>boë¶m H$ma{H$Xu{df¶r Amdí¶H$ Agbobo {deof kmZM Zmhr Va 
Á¶m OJmV Ë¶m§Zm OJm¶Mo Amho Am{U H$m‘ H$am¶Mo Amho Ë¶m{df¶r 
gm‘mÝ¶ kmZhr {‘iob. n{hë¶m {gÕm§VmMo g‘W©H$ Ago åhUVmV H$s Oo 
ì¶mnma qH$dm ì¶dgm¶mV VÁk hmoVo Ë¶m§ZrM ‘mZdr g§ñH¥$VrV ‘moR>o 
¶moJXmZ {Xbo Amho. Xþgè¶m ~mOyMo bmoH$ Ago åhUVmV H$s, Ë¶m§À¶mH$S>o 
ì¶mnH$ gm‘mÝ¶ {ejU Agë¶m{edm¶ Ë¶m§À¶m ghH$mè¶m§~Ôb ghmZw ŷVr 
qH$dm g§nyU© ‘mZdVo~X²Xb ¶mo½¶ O~m~XmarMr ^mdZm OmUdÊ¶m~m~V 
’$maM H$moVm Ñï>rH$moZ AgVm. 
60. ì¶mnH$ gm‘mÝ¶ kmZ Amdí¶H$ Amho H$maU ...........   
 (1) Vo EImÚmMm Ñï>rH$moZ {dñV¥V H$aVo. 
 (2) Vo Amnë¶mbm doJdoJù¶m Jmoï>t~Ôb {eH$dVo. 
 (3) Ë¶m{edm¶ H$moUmbmhr ZmoH$ar {‘iUma Zmhr. 
 (4) {deof kmZ Ë¶m{edm¶ AnyU© Amho. 
61. n{hë¶m {gÕm§VmMo g‘W©H$ Ago åhUVmV H$s .............   
 (1) VÁkm§Zr ‘mZdOmVrgmR>r H$mhrhr Ho$bo Zmhr. 
  (2) VÁkm§nojm gm‘mÝ¶ kmZ Agbobo bmoH$ A{YH$ Cn¶moJr 

 AmhoV. 
 (3) gm‘mÝ¶ kmZ Agboë¶m bmoH$m§Zr ‘mZdr g§ñH¥$VrgmR>r 

 ¶moJXmZ {Xbo Amho. 
 (4) AmYw{ZH$ OJmV àJVr H$aÊ¶mV VÁkm§Mo gdm©{YH$ 

¶moJXmZ  Amho. 
62. ¶m n[aÀN>oXmVrb n{hë¶m {dMmgaUrMr H$ënZm Aer Amho H$s ... 
 (1) {dÚmÏ¶mªZr Ë¶m§Zm BpÀN>V gd© {df¶m§Mm Aä¶mg Ho$bm 

 nm{hOo. 
  (2) {dÚmÏ¶mªZr WmoS>çm {df¶m§Mm Aä¶mg Ho$bm nm{hOo Á¶m‘wio 

 Ë¶m§À¶m ì¶dgm¶mV ‘XV hmoB©b. 
 (3) {dÚmÏ¶mªZr H$moUVohr {deof H$m‘ hmVr KoD$ Z¶o. 
 (4) {dÚmÏ¶mªZr Aä¶mgmda bj H|${ÐV Ho$bo nm{hOo. 

63.   If a + b means a is daughter of b and 

 a  b means a is brother of b then 

 h + i  j + k  l + m  n. Assuming that the oldest 

generation in this group as 1
st
, what is the present 

generation of h? 

 (1) 4
th

  (2) 5
th

 (3) 2
nd

 (4) 3
rd

 

63. Oa a + b åhUOo a hr b Mr ‘wbJr Amho Am{U 

 a  b åhUOo a hm b Mm ^mD$ Amho. Va  
 h + i  j + k  l + m  n. Ë¶m JQ>mV gdm©V OwZr {nT>r n{hbr 

g‘OyZ h Mr AmOMr {nT>r {H$Vdr Agob? 

 (1) 4 Wr  (2) 5 dr (3) 2 ar (4) 3 ar 
64.    Five friends, Jawahar, Anil, Rohit, Daulat and Guru  

went to Suruchi Sweet home to eat gulabjamuns. 

 1) Daulat and Rohit together ate 37 gulabjamuns.  

 2) Guru ate 8 gulabjamuns less than Anil. 

 3) Anil ate 5 gulabjamuns  more than Daulat. 

 4) Jawahar ate 8 gubjamuns more than Daulat. 

 5) Anil and Guru together ate 40 gulabjamuns.   

 How many gulabjamuns all five friends together ate?   

 (1) 112 (2) 100 (3) 104 (4) 99 

64. nmM {‘Ì Odmha, A{Zb, amo{hV, Xm¡bV Am{U Jwé Jwbm~Om‘ 
ImÊ¶mgmR>r gwê$Mr ñdrQ> hmo‘‘Ü¶o Jobo.  

 1) Xm¡bV Am{U amo{hV XmoKm§Zr {‘iyZ 37 Jwbm~Om‘ Im„o. 
 2) JwéZo A{Zbnojm 8 Jwbm~Om‘ H$‘r Im„o. 
 3) A{ZbZo Xm¡bVnojm 5 Jwbm~Om‘ OmñV Im„o. 
 4) OdmhaZo Xm¡bVnojm 8 Jwbm~Om‘ OmñV Im„o. 
 5) A{Zb Am{U Jwê$ ¶m§Zr EH${ÌVnÌo 40 Jwbm~Om‘ Im„o. 
 gd© nmM {‘Ìm§Zr {‘iyZ {H$Vr Jwbm~Om‘ Im„o? 
 (1) 112 (2) 100 (3) 104 (4) 99 
Question nos. 65 and 66 : In the following two questions 

three statements are given which are followed by four 

conclusions A, B, C and D. you have to assume the given 

statements to be true even if they seem to be at variance 

from commonly known facts. Decide which of the given 

conclusions logically follow and accordingly select the 

alternative. 

65. Statements : All donkeys are monkeys. 

  All monkeys are elephants. 

  No elephants are lions.  

 Conclusions : A) Some lions are donkeys. 

   B) Some elephants are donkeys. 

   C) All donkeys are elephants. 

   D) Some monkeys are donkeys. 

 (1) B and C follow.  (2) B, C and D follow.  

 (3) C and D follow. (4) A, C and D follow. 
66.  Statements : Some squares are circles. 

  Some circles are rectangles. 

  Some rectangles are triangles.  

 Conclusions : A) Some triangles are squares.  

   B) Some rectangles are squares. 

   C) No circles are triangles. 

   D) No rectangles are squares. 

 (1) All follow. (2) A and D follow.  

 (3) B and C follow.  (4) None follows. 

àíZ H«$. 65 Am{U 66 : Imbrb XmoZ àíZmV VrZ {dYmZo {Xbr AmhoV 
d Ë¶mZ§Va A, B, C Am{U D Ago Mma {ZîH$f© {Xbo AmhoV. {Xbobr 
{dYmZo gd©gm‘mÝ¶nUo ‘m{hV Agboë¶m VÏ¶mhÿZ {^ÝZ Agbr Var Vr 
Iar AmhoV Ago g‘Om. {Xboë¶m {ZîH$fmªn¡H$s H$moUVo VH©$ÑîQ>çm 
{ZKVmV Vo R>adm d Ë¶mZwgma n¶m©¶ {ZdS>m. 
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65. {dYmZo : gd© JmT>d ‘mH$S>o AmhoV. 
  gd© ‘mH$S>o hÎmr AmhoV. 
  H$moUVmhr hÎmr qgh Zmhr. 
 {ZîH$f© : A) H$mhr qgh JmT>d AmhoV.  
  B) H$mhr hÎmr JmT>d AmhoV. 
  C) gd© JmT>d hÎmr AmhoV. 
  D) H$mhr ‘mH$S>o JmT>d AmhoV. 
 (1) B Am{U C {ZKVmV.  (2) B, C Am{U D {ZKVmV. 

 (3) C Am{U D {ZKVmV.  (4) A, C Am{U D {ZKVmV. 
66. {dYmZo : H$mhr Mm¡ag dVw©i AmhoV. 
  H$mhr dVw©i Am¶V AmhoV. 
  H$mhr Am¶V {ÌH$moU AmhoV. 
 {ZîH$f© : A) H$mhr {ÌH$moU Mm¡ag AmhoV. 

  B) H$mhr Am¶V Mm¡ag AmhoV. 
  C) H$moUVohr dVw©i {ÌH$moU Zmhr. 
  D) H$moUVohr Am¶V Mm¡ag Zmhr. 
 (1) gd© {ZKVmV. (2) A Am{U D {ZKVmV. 

 (3) B Am{U C {ZKVmV.  (4) H$moUVoM {ZKV ZmhrV. 
Question nos. 67 and 68.  Read the following information  

and answer the questions.  
Abhijeet, Babita, Chandrashekhar, Dawood, Eknath, Firoz, 

Glenn and Harish were sitting around a table facing centre. 

Dawood was a neighbour  of Abhijeet but not Harish, 

Babita was a neighbour of Firoz and 4
th

 to the left of 

Dawood. Eknath was a neighbour of Harish and 3
rd

 to the  

right of Firoz. Chandrashekhar was neither the neighbour of 

Abhijeet nor of Glenn.   

àíZ H«$. 67 Am{U 68 : Imbrb ‘m{hVr dmMm Am{U àíZm§Mr CÎmao 
Úm.  
A{^OrV, ~{~Vm, M§ÐeoIa, XmD$X, EH$ZmW, {’$amoP, ½boZ Am{U 
harf EH$m Q>o~bm^modVr Q>o~bm§À¶m ‘Ü¶^mJr Vm|S> H$ê$Z ~gbo hmoVo. 
XmD$X A{^OrVÀ¶m eoOmar ~gbm hmoVm nU harfÀ¶m eoOmar ZìhVm. 
~{~Vm {’$amoPÀ¶m eoOmar Am{U XmD$XÀ¶m S>mdrH$S>o Mm¡Wr ~gbr hmoVr. 
EH$ZmW harfÀ¶m eoOmar Am{U {’$amoOÀ¶m COdrH$S>o {Vgam hmoVm. 
M§ÐeoIa hm A{^OrV qH$dm ½boZÀ¶m eoOmar ZìhVm. 
67.   Which of the following was wrong statement of sitting 

arrangement ?  

 (1) Babita was immediate left of Harish.  

 (2) Eknath was sitting immediate right of Harish. 

 (3) Dawood was 4
th

 right of Firoz.  

 (4) Chandrashekhar and Firoz were exactly 

 opposite to each other. 

67. Imbrbn¡H$s H$moUVr ~¡R>H$ ì¶dñWm MwH$sMr hmoVr? 
 (1) ~{~Vm harfÀ¶m bJV S>mdrH$S>o hmoVr. 

 (2) EH$ZmW harfÀ¶m bJV COdrH$S>o ~gbm hmoVm. 
 (3) XmD$X [’$amoPÀ¶m COdrH$S>o Mm¡Wm hmoVm. 

 (4) M§ÐeoIa Am{U {’$amoP EH$‘oH$m§À¶m AJXr g‘moa hmoVo. 
68.   In which of the following alternatives had the 2

nd
 

person sitting between 1
st
 and 3

rd
 without anybody in 

between?  

 (1) Abhijeet - Firoz Chandrashekar  

  (2) Glenn - Abhijeet - Dawood 

 (3) Babita - Eknath - Harish   

 (4) Chandrashekhar - Eknath - Babita 

 

68. Imbrbn¡H$s H$moUË¶m n¶m©¶mV Xþgar ì¶³Vr n{hë¶m Am{U 
{Vgè¶m À¶m ‘Ymo‘Y gbJnUo ~gbr hmoVr? 

 (1) A{^OrV - {’$amoP - M§ÐeoIa 

 (2) ½boZ - A{^OrV - XmD$X 

 (3) ~{~Vm - EH$ZmW - harf 

 (4) M§ÐeoIa - EH$ZmW - ~{~Vm 

Question nos. 69 and 70. In each of the following two 

questions a problem is followed by an information given in 

three statements. Decide the information given in which of 

the statements is necessary to answer a problem. 

Accordingly choose the alternative. 

àíZ H«$. 69 Am{U 70 : Imbrb XmoZ àíZmV EH$ g‘ñ¶m {Xbr Amho. 
Am{U Ë¶mg§~§Yr ‘m{hVr VrZ {dYmZmV {Xbr Amho. H$moUË¶m {dYmZmVrb 
‘m{hVr g‘ñ¶m gmoS>{dÊ¶mg Amdí¶H$ Amho Vo R>adm. Ë¶mZwgma n¶m©¶ 
{ZdS>m. 

69.   Problem : What is the cost of flooring the rectangular 

hall? 

 Statement  A : length and breadth of the hall are in 

the ratio 4 : 2. 

 Statement  B : Length of the hall is 48 m. and cost of 

flooring is Rs. 900/- per sq. m. 

 Statement  C : The perimeter of he hall is 180 m. and 

the cost of flooring is Rs. 900/- per sq. m. 

 (1) Any two of the three  

 (2) Statement A and either statement B or C 

 (3) Statement A only 

 (4) Statement C only 

69. g‘ñ¶m : Am¶VmH¥$Vr g^mJ¥hmbm ’$aer ~gdÊ¶mgmR>r {H$Vr 
IM© ¶oB©b? 

  {dYmZ A : g^mJ¥hmMr bm§~r Am{U é§Xr ¶m§Mo JwUmoÎma 4 : 2 
Amho. 

 {dYmZ B : g^mJ¥hmMr bm§~r 48 ‘r Amho Am{U ’$aer 
~gdÊ¶mMm IM© à{V dJ© ‘r. gmR>r ê$. 900/- Amho. 

  {dYmZ C : g^mJ¥hmMr n[a{‘Vr 180 ‘r. Amho Am{U ’$aer 
~g{dÊ¶mMm IM© à{V dJ© ‘r gmR>r é. 900/- Amho. 

 (1) VrZn¡H$s H$moUVrhr XmoZ 

 (2) [dYmZ A Am{U {dYmZ B qH$dm {dYmZ C ¶mn¡H$s EH$ 

 (3) ’$³V {dYmZ A   
 (4) ’$³V {dYmZ C 

70.   Problem : What is the two digit number? 

 Statement P : The difference between the two digit 

number and the number formed by interchanging the 

digits is 27. 

 Statement  Q : The digit at units place is less than 

that at ten’s place by 3. 

 Statement  R : The difference between the two digits 

is 3. 

 (1) Statements P and Q 

 (2) Statements Q and R 

 (3) All the three statements  

 (4) None of the three together are sufficient.  
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70.  g‘ñ¶m : XmoZ A§H$s g§»¶m H$m¶ Amho? 

 {dYmZ P : Ë¶m XmoZ A§H$s g§»¶m d Ë¶mVrb A§H$mMr AXbm~Xb 
H$ê$Z ¶oUmè¶m g§»¶oVrb ’$aH$ 27 Amho. 

 {dYmZ Q : EH$H$ ñWmZr Agbobm A§H$ hm XeH$ ñWmZr 
Agboë¶m A§H$mnojm 3 Zo H$‘r Amho. 

 {dYmZ R : XmoZ A§H$mVrb ’$aH$ 3 Amho. 

 (1) {dYmZo P Am{U Q       (2) {dYmZo Q Am{U R 

 (3) gd© VrZhr {dYmZo     (4) VrÝhr EH${ÌVnUohr nwaogo Zmhr. 

71.   If letters in the word SOLITARY are arranged in such 

a way that first the vowels within the word are 

arranged alphabetically, followed by the consonants 

arranged alphabetically, then which of the following 

will be the fifth letter from the right end after 

rearrangement?   

71. Oa SOLITARY ¶m eãXmVrb Ajao Aem [aVrZo ‘m§S>Ur Ho$br 
H$s àW‘ gd© ñda B§J«Or AÚmjamZwgma {b{hbo d Ë¶mZ§Va gd© 
ì¶§OZo B§J«Or AÚmjamZwgma {b{hbr Va nwZ:‘mªS>UrZ§Va 
COdrH$Sy>Z nmMdo Aja H$moUVo Agob?   

 (1) R (2) S (3) L (4) T 

72.   If prasad is heavier than Akash, who is lighter than 

Waman while Prabhakar is lighter then prasad and 

heavier than Waman, then who among them is in the 

third place from the top when they are arranged in 

descending order of heavier to lighter weights?  

 (1) Waman    (2) Akash (3) Prabhakar  (4) Prasad 

72. Oa àgmX AmH$menojm dOZXma Amho, Omo dm‘Znojm hbH$m Amho. 
Va à^mH$a àgmXnojm hbH$m Amho nU dm‘Znojm dOZXma Amho, 
Va Oa dOZXma nmgyZ hb³¶mn¶ªV CVaË¶m H«$‘mZo aMZm 
Ho$ë¶mg H$moU dê$Z {Vgam Agob? 

 (1) dm‘Z (2) AmH$me (3) à^mH$a (4) àgmX 

73.   If the first half of the letters in English alphabets are 

written in reverse order, which letter will be exactly 

midway between the ninth letter from the left and 

tenth letter from the right?  

73. Oa B§J«Or dU©‘mboVrb n{hbr {Zå‘r Ajao CbQ> H«$‘mZo {b{hbr, 
Va H$moUVo Aja S>mdrH$Sy>Z Zdì¶m d COdrH$Sy>Z Xhmì¶m 
AjamÀ¶m ‘Ymo‘Y ¶oB©b? 

 (1) B (2) A (3) D (4) N 

74.   There views of the cube are shown  below 

 

 
 
 
 
 

 Considering possible numbers which can exist on two 

faces marked A and B on the cube decide which of the 

following cubes can be seen. 
 

 

 
 

 
 
 

  P  Q  R  S   
 

 (1) All P, Q, R and S (2) R and S 

 (3) Q and R (4) P and R 

 

 

74. EH$m KZmMr VrZ Ñî¶ Imbr XmI{dbr AmhoV. 
 
 
 
 A Am[U B Ago KZmÀ¶m n¥ð>^mJmda {b{hboë¶m {R>H$mUr H$moUVo 

A§H$ Agy eH$Vrb ¶mMm {dMma H$ê$Z Imbrbn¡H$s H$moUVo KZ 
{Xgy eH$Vrb Vo R>adm. 

 
 
 
 

 
 
 

  P  Q  R  S   
 

 (1) P, Q, R Am{U S (2) R Am{U S 

 (3) Q Am{U R (4) P Am{U R 

75.  Which number can appear at x in the following 

matrix? 

75. Imbrb V³Ë¶mV x À¶m OmJr H$moUVr g§»¶m Agy eHo$b? 

3 370 7 

2 224 6 

4 x 5 
 

 (1) 189 (2) 198 (3) 225 (4) 141 

76.  How many such pairs of letters are there in the word 

EXECUTION, each of which has as many letter 

between them in the word as they have between 

English alphabet?  

 (1) 2 (2) 3 (3) 5 (4) 4 

76. EXECUTION ¶m eãXmV Ajam§À¶m Aem {H$Vr OmoS>çm AmhoV 
H$s Ë¶m§À¶m‘Ü¶o OodT>r Ajao ¶m eãXmV AmhoV VodT>rM B§J«Or 
‘yimja ‘m{bHo$V AmhoV? 

 (1) 2 (2) 3 (3) 5 (4) 4 

77.  The average of three prime numbers between 48 and 

77 is 63
3

2
. What is the greatest possible sum of any 

two out of three prime numbers?  

 (1) 124 (2) 130 (3) 128 (4) 138 

77. 48 Vo 77  ‘Yrb VrZ ‘yi g§»¶mMr gamgar 63
3

2
 Amho. Va 

Ë¶m VrZ ‘yi g§»¶oVrb H$moUË¶mhr XmoZ ‘yi g§»¶m§Mr OmñVrV 
OmñV ~oarO {H$Vr Agob?   

 (1) 124 (2) 130 (3) 128 (4) 138 

78.   If monthly salary of A, B and C are in the ratio 2 : 3: 5 

and if monthly salary of C is  Rs. 12000/–  more than 

that of A. Find the annual salary of B.  

 (1) ` 12000/– (2) ` 1,44,000/– 

 (3) ` 20,000/– (4) ` 2,40,000/– 

78. Oa A, B Am{U C ¶m§À¶m ‘m{gH$ nJmamMo JwUmoÎma 2 : 3 : 5 

Agob Am{U C Mm ‘m{gH$ nJma A À¶m ‘m{gH$ nJmamÀ¶mnojm 
é. 12000/– Zo OmñV Agob Va B Mm dm{f©H$ nJma {H$Vr 
Agob?   

 (1) ê$. 12000/– (2) ê$. 1,44,000/– 

 (3) ê$. 20,000/– (4) ê$. 2,40,000/– 

5 
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79.   A person spends 1/3 part of his income on house rent, 

1/4 part on food and remaining Rs. 6300/– on other 

items. Then how much Rs. does he spent on food?  

79. EH$ ‘mUyg Ë¶mÀ¶m CËnÞmÀ¶m 1/3  ^mJ Ka^mS>çmda IM© 
H$aVmo, 1/4  ^mJ AÞmda Am{U Cabobo é. 6300/– BVa ~m~tda 
IM© H$aVmo. Va AÞmda Vmo {H$Vr é. IM© H$aVmo?   

 (1) 3780 (2) 5040 (3) 15120 (4) 3024 
80.   Find the smallest number, which when divided by 12,  

15, 20 and 54 leaves a remainder of 8 in each case. 

80. 12, 15, 20 Am{U 54 Zo ^mJë¶mda àË¶oH$ doir 8  ~mH$s CaVo 
Aer bhmZmV bhmZ g§»¶m emoYm. 

 (1) 568 (2) 520 (3) 548 (4) 540 
81.   An equilateral triangle is inscribed in a circle. If the 

length of an arc bounded by adjacent corners of the 

triangle is between 4 and 6, Which of the following 

could be the diameter of the circle?  

 a) 15  b) 11 c) 17 d) 22 

 (1) a and d   (2) a and c  (3) b and d (4) b and c 

81. EH$ g‘^wO {ÌH$moU dVw©imV A§V{b©{IV Ho$bm Amho. {ÌH$moUmÀ¶m 
gbJ XmoZ Q>moH$m§Zm OmoS>Umè¶m H§$gmMr bm§~r 4 Am{U 6 
¶m‘Ü¶o Agob Va Imbrbn¡H$s Ë¶m dVw©imMm ì¶mg {H$Vr Agy 
eHo$b?   

 a) 15  b) 11 c) 17 d) 22 

 (1) a Am{U d   (2) a Am{U c  (3) b Am{U d   (4) b Am{U c 

Question nos. 82 and 83 : Following table gives the 

number of students from different classes from given 

college passed and failed. study the data and answer the 

questions that follow. 

Classes 

Years 
F. Y S. Y T. Y 

Passed Failed Passed Failed  Passed Failed  

2017 75 15 62 10 84 21 

2018 78 18 44 16 62 12 

2019 70 20 60 15 66 14 

82. What is the ratio between total number of passed 

students to  the total number of failed students in the 

year 2018?  

 (1) 4 : 1 (2) 5 : 2 (3) 7 : 3 (4) 3 : 1 

83. Which of the following classes has maximum number 

of passed students as compared to total number of 

students of the class over the years? 

 (1) F. Y. (2) S. Y.    (3) F. Y. and T. Y.     (4) T. Y. 

àíZ H«$. 82 Am{U 83 : Imbrb V³Vm EH$m ‘hm{dÚmb¶mVrb 
{Za{Zamù¶m dJm©Vrb CÎmrU© Am{U AZwÎmrU© {dÚmÏ¶mªMr g§»¶m Xe©{dVmo. 
‘m{hVrMm Aä¶mg H$am d Imbrb àíZm§Mr CÎmao Úm. 

      dJ© 
  df© 

F. Y S. Y T. Y 

CÎmrU© AZwÎmrU© CÎmrU© AZwÎmrU© CÎmrU© AZwÎmrU© 

2017 75 15 62 10 84 21 

2018 78 18 44 16 62 12 

2019 70 20 60 15 66 14 

82. 2018 ‘Ü¶o EHy$U CÎmrU© {dÚmÏ¶mªMo EHy$U AZwÎmrU© {dÚmÏ¶mªer 
H$m¶ JwUmoÎma hmoVo?   

 (1) 4 : 1 (2) 5 : 2 (3) 7 : 3 (4) 3 : 1 

83. Imbrbn¡H$s H$moUË¶m dJm©Mo CÎmrU© {dÚmWu Ë¶m dJm©À¶m EHy$U 
{dÚmÏ¶mªÀ¶m VwbZoV {Xboë¶m dfm©V gdm©V OmñV hmoVo?   

 (1) F. Y.  (2) S. Y. 

 (3) F. Y and T. Y. (4) T. Y. 

84.   Khushwantsingh started his car at 6.45 am and drove 

at the speed of 40 km / hr. After each 80 km. he took 

rest for 20 minutes for the car engine to cool down. At 

what time he might have reached his destination 240 

km away? 

84. Iwed§VqgJZo gH$mir 6.45 dmOVm Ë¶m§Mr JmS>r gwê$ Ho$br Am{U 
Vmer 40 {H$.‘r doJmZo Mmbdbr. àË¶oH$ 80 {H$. ‘r. Z§Va Ë¶m§Zr 
JmS>rMo B§{OZ Jma H$aÊ¶mgmR>r 20 {‘{ZQ>o {dlm§Vr KoVbr. Va 
240 {H$. ‘r Xÿa Agboë¶m ‘w³H$m‘mÀ¶m {R>H$mUr Vo {H$Vr dmOVm 
nmohmoMbo AgVrb?  

 (1) 1.05 pm  (2) 1.45 pm 

 (3) 1.25 pm  (4) 12.45 pm 
 

Directions for following 6 questions : Given below are six 

questions describing a situation and is followed by four 

possible responses. Indicate the response you find the most 

appropriate. Choose only one response for each question. 

The responses will be evaluated based on the level of 

appropriateness for the given situation. 

 

Please attempt all the questions. There is no penalty for 

wrong answers for these six questions. 

 
nwT>rb ghm àíZm§gmR>r gyMZm : Imbr ghm àíZ {Xbo AmhoV Á`mV 
àË`oH$s EH$ KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m 
AmhoV. Vw_À`m Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ 
àíZmH$arVm EH$M n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>ZoÀ¶m 
g§X^m©V Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m ghm àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
 
85. While inspecting an Industrial Training Institute you 

found that the building in one housing colony had a 

massive board for the ITI, suggesting that the centre 

has occupied the entire space. When you stepped 

inside the institute, you found that it is operating from 

a one room flat in the corner. When asked about their 

office and laboratory that is mandatory for assisting 

students to get hands-on experience, the person in 

charge claimed that the institute has a lab, and guided 

you to a scooter garage on the ground floor. This 

person showed you all certificates of massive 

infrastructure that are mandatory for an ideal ITI. You 

will .... 

 (1) Order the institute to take three years to put 

together the infrastructure they promised at the 

time of getting government recognition to avoid 

suffering of students already admitted. 

 (2) Order de-recognition of the institute to avoid 

students getting certificates without acquiring 

the needed experience based skills. 

 (3) Call a meeting of students, parents, teachers 

and management to sort out problems related 

to acquisition of expected skills and appoint a 

committee to monitor educational programmes. 

 (4) Order the management to make arrangements 

for assisting students immediately for getting 

the hands-on experience that they need to get 

jobs without charging extra fees. 
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85. Am¡Úmo{JH$ à{ejU g§ñWoMo narjU H$aVmZm EH$m J¥h dgmhVrVrb 
B‘maVrda Vwåhmbm ITI Mm ^¸$‘ Zm‘’$bH$ AmT>ibm. ¶m H|$ÐmZo g§nyU© 
OmJm ì¶mnbr Amho Ago hm ’$bH$ gwMdV hmoVm. H$monè¶mVë¶m EH$ 
Imobr Agboë¶m OmJoVyZ g§ñWm Mmbdbr OmV Amho ho g§ñWoV Vwåhmbm 
nmD$b R>odVmM AmT>ibo. Ooìhm H$Moar Am{U {dÚmÏ¶mªZm àË¶j AZw^d 
¿¶m¶bm ghmæ¶ XoÊ¶mgmR>r A{Zdm¶© Agboë¶m à¶moJemio~m~V 
{dMmaUm Ho$br, Voìhm à^mar ì¶³VrZo g§ñWoMr à¶moJemim Agë¶mMm 
Xmdm H$ê$Z Vwåhmbm Vi‘Oë¶mdarb ñHy$Q>a XþéñVr JaoO‘Ü¶o Zobo. ¶m 
ì¶³VrZo Vwåhmbm AmXe© ITI gmR>r Amdí¶H$ AgUmè¶m àeñV 
gw{dYm§Mr gd© à‘mUnÌo XmIdbr. Vwåhr ........ 
 (1) àdoe KoVboë¶m {dÚmÏ¶mªMo ZwH$gmZ Q>imdo, åhUyZ g§ñWobm 

‘mÝ¶Vm {‘idÊ¶mgmR>r H$~yb Ho$boë¶m ^m¡{VH$ gw{dYm VrZ 
dfmªÀ¶m H$mbmdYrV OwidyZ AmUÊ¶mg gm§Jmb. 

 (2) Amdí¶H$ j‘Vm àmßV Ho$ë¶m{edm¶ {dÚmÏ¶mªZm à‘mUnÌo 
{‘idUo Q>miÊ¶mgmR>r g§ñWoMr emgZ ‘mÝ¶Vm aÔ H$amb. 

 (3) H$m‘ {‘idÊ¶mgmR>r Amdí¶H$ AZw^dmYm[aV H$m¡eë¶o 
àmßV H$aÊ¶mg§~§YrVrb g‘ñ¶m gmoS>dÊ¶mgmR>r Am{U 
e¡j{UH$ CnH«$‘m§Mo {Z¶‘Z H$aUmar g{‘Vr Zo‘Ê¶mgmR>r 
{dÚmWu, nmbH$, AÜ¶mnH$ Am{U ì¶dñWmnH$ ¶m§Mr ~¡R>H$ 
~mobdmb. 

 (4) ì¶dñWmnZmbm A{V[a³V ewëH$ Z bmXVm H$m‘ 
{‘idÊ¶mgmR>r Amdí¶H$ Ago àË¶j AZw^d ¿¶m¶bm 
{dÚmÏ¶mªZm ghmæ¶ XoÊ¶mgmR>r ì¶dñWm H$aÊ¶mMm AmXoe 
Úmb. 

86. You are heading the department that is responsible for 

taking decisions concerned with employing Information 

and Communications Technology for various purposes. 

Though most of your subordinates usė smartphones, they 

are against providing online services to general public 

under the pretext that they should be in touch with them to 

be familiar with their problems as public servants. You are 

familiar with their excuses related to this but you are 

determined to give online public services to reduce 

corruption, save energy and money, and relieve people 

from different kinds of harassment. You will ....... 

 (1) Make all needed arrangements related to your 

goals without considering the opinions of your 

subordinates. 

 (2) Take the initiative for assisting your 

subordinates to get sensitized with the 

difficulties faced by public at large due to the 

indifferent attitude of public servants. 

 (3) Start giving memos when these office bearers 

make lay persons feel that they are at their 

mercy and make them to pay for this. 

 (4) With the help of several informal meetings with 

your subordinates, make efforts to form an 

association to provide services as a responsible 

and honest public servant. 

86. Vwåhr {d{dY H$m‘m§gmR>r ‘m{hVr d g§àofU V§ÌkmZ dmnaÊ¶mMo 
{ZU©¶ KoÊ¶mgmR>r O~m~Xma AgUmè¶m {d^mJmMo à‘wI AmhmV. Oar 
Vw‘À¶m hmVmImbrb ~hþg§»¶ bmoH$ MbmI ’$moÝgMm (smartphones) 

dmna H$aV Agbo Var Vo OZVoMo godH$ åhUyZ Ë¶m§À¶m AS>rAS>MUtMm 
n[aM¶ ¶mÀ¶mer g§~§{YV Ë¶m§À¶m nidmQ>m§er n[a{MV AmhoV. nU Varhr 
Vwåhr ^«ï>mMma H$‘r H$aÊ¶mgmR>r, Ë¶m§Mr e³Vr d n¡go dmMdÊ¶mgmR>r 
Am{U bmoH$m§Zm {d{dY ñdê$nmÀ¶m N>imnmgyZ ‘w³V H$aÊ¶mgmR>r 
OZVobm Am°ZbmBZ godm XoÊ¶mMm {ZYm©a Ho$bobm Amho. Vwåhr .... 

 (1) Vw‘À¶m H${Zð>m§Mr ‘Vo {dMmamV Z KoVm Vw‘Mo Ü¶o¶ 
JmR>Ê¶mgmR>r Amdí¶H$ Agbobr gd© ì¶dñWm H$amb. 

 (2) OZVoÀ¶m godH$m§À¶m AmS>‘wR>onUm‘wio ~hþVm§e OZVobm 
ôS>gmdUmè¶m AS>MUt~m~V g§doXZerb hmoÊ¶mg Vw‘À¶m 

H${Zð>m§Zm ‘XV H$aÊ¶mgmR>r nwT>mH$ma ¿¶mb. 
 (3) gm‘mÝ¶ ì¶³VtZm AmnU nXm{YH$mè¶m§À¶m X¶oda Adb§~yZ 

AmhmoV d Ë¶mMm ‘mo~Xbm AmnU hdm Aer ^mdZm {Z‘m©U 
H$aUmè¶m àË¶oH$mbm boIr VmH$sX Úmbm. 

 (4) ~è¶mM AZm¡nMm[aH$ ~¡R>H$s KoD$Z Vwåhr Vw‘À¶m H${Zð>m§Mo 
EH$ O~m~Xma Am[U àm‘m{UH$ OZVm godH$ åhUyZ godm 
XoUmao ‘§S>i ñWm{nV H$aÊ¶mMm à¶ËZ H$amb. 

87. You are heading the department that looks after control 

of pollution in the city. While reading the report, 'State of 

Global Air 2017' it was evident to you that ozone related 

early deaths are increasing in India. You will .... 
 (1) Collect related data to know the reality of this 

problem in your city and then decide a course 

of action, if necessary, in collaboration with the 

health department. 

 (2) With the assistance of the transport department 

of the city, you will devise a plan for supplying 

reliable public transport for controlling 

vehicular pollution. 

 (3) Along with developing strategies for controlling 

vehicular pollution, seek modern systems of 

managing garbage of all kinds found in the city 

as well as around the city. 

 (4) With the help of the transport department, 

control the number of vehicles on the roads 

each day and organise a good network to 

transport garbage to a place away from the city. 

87. Vwåhr ehamÀ¶m àXÿfU {Z¶§ÌUmda XoIaoI H$aUmè¶m {d^mJmMo 

à‘wI ‘d¡{œH$ hdm 2017 Mr pñWVr’ Ahdmb dmMVmZm Vw‘À¶m bjmV 
Ambo H$s AmoPmoZer g§~§{YV ^maVmVrb ~mb‘¥Ë¶yV dmT> hmoVo Amho. 
Vwåhr, ........ 
 (1) ¶m g‘ñ¶o~m~VMr dñVwpñWVr OmUyZ KoÊ¶mgmR>r Amdí¶H$ 

‘m{hVr Jmoim H$amb Am{U JaO Agë¶mg Amamo½¶ 
{d^mJmÀ¶m ghH$m¶m©Zo CnH«$‘ H$m¶m©pÝdV H$aÊ¶mMm {ZU©¶ 
¿¶mb. 

 (2) ehamÀ¶m dmhVwH$ {d^mJmÀ¶m ghmæ¶mZo dmhZ àXÿfU 
{Z¶§{ÌV H$aÊ¶mgmR>r ^ademMr gmd©O{ZH$ dmhVwH$ 
nwadÊ¶mMr ¶moOZm AmImb. 

 (3) dmhVyH$ àXÿfU {Z¶§ÌUmMr aUZr{V AmIÊ¶m~amo~arZo 
ehamV VgoM eham^modVr AmT>iUmè¶m gd© àH$maÀ¶m 
H$Mè¶mMo ì¶dñWmnZ H$aÊ¶mMr àUmbr {‘idmb. 

 (4) dmhVwH$ {d^mJmÀ¶m ‘XVrZo Xa {Xder añË¶mda ¶oUmar 
dmhZo {Z¶§{ÌV H$amb Am{U ehamnmgyZ Xÿada Agboë¶m 
{R>H$mUr H$Mam dmhÿZ ZoÊ¶mgmR>r CÎm‘ goVwOmb g§K{Q>V 
H$amb. 

88. You are occupying the topmost position in your office. 

Recently two of your subordinates met with accidents and 

suffered minor injuries on their way to office on different 

occasions. The leader of their union came to you requesting 

you to consult a famous vastu expert and make necessary 

changes in the office premises and avoid these kinds of evil 

experiences in the future. You know the fact that the 

human-friendly and eco-sensitive premises are designed by 
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an architect who has taken care of climatic and 

geographical conditions of the area. You will ....... 
 (1) Accept his request to consult the expert and 

save on expenses that incur due to such 

accidents in future. 

 (2) Call a meeting of all employees for getting 

familiar with their attitude towards these things 

and assist them in making a sensible decision on 

this request. 

 (3) Organise a series of workshops for your 

employees to help them to understand the 

futility of such consultations by making them 

familiar with the facts. 

 (4) Reject this request summarily by telling the 

person that you don't believe in such sciences. 
88. Vw‘À¶m H$MoarV Vwåhr gdm©V Cƒ nXmda AmhmV. Vw‘À¶m 
hmVmImbrb XmoZ ì¶³VtZm doJdoJù¶m àg§Jr H$MoarV ¶oV AgVmZm 
AnKmV hmoD$Z Ë¶m§Zm {H$aH$moi XþImnVtMm Ìmg Pmbm. ^{dî¶mV Aem 
àH$maÀ¶m XþX£dr AZw^dm§Zm Q>miÊ¶mgmR>r Ë¶m§À¶m g§KQ>ZoMm ZoVm 
Vw‘À¶mH$S>o EH$m à{gÕ dmñVw VÁkmMm g„m KoD$Z H$MoarÀ¶m n[agamV 
¶mo½¶ Vo ~Xb H$ê$Z KoÊ¶mMr {dZ§Vr H$aV Amho. ¶m joÌmÀ¶m 
Obdm¶y‘mZmMr (hdm‘mZmg§~§YrMr) d ^m¡Jmo{bH$ n[apñWVrMr H$miOr 
KoUmè¶m dmñVw{dÚm{demaXmZo (Am°{H©$Q>o³Q>) ho ‘mUygñZohr d n¶m©daU 
g§doXZerb n[aga aMbo Amho. 
 (1) VkmMm g„m KoÊ¶mMr Ë¶mMr {dZ§Vr ñdrH$mamb Am{U 

^{dî¶mV Aem AnKmVm§‘wio IM© dmMdmb. 
 (2) ¶m Jmoï>tg§~§YmVrb gd© H$‘©Mmè¶m§À¶m d¥ÎmrMm n[aM¶ H$ê$Z 

KoÊ¶mgmR>r d Ë¶mÀ¶m {dZ§Vr~m~V g‘§OgnUo {ZU©¶ 
¿¶m¶bm ‘XV XoÊ¶mgmR>r Ë¶m§Mr ~¡R>H$ Am¶mo{OV H$amb. 

 (3) H$‘©Mmè¶m§Zm dñVwpñWVrMm n[aM¶ H$ê$Z XoD$Z Ago g„o 
{Zén¶moJr AgVmV ho g‘OyZ ¿¶m¶bm ‘XV XoUmar 
H$m¶©emim ‘m{bH$m Am¶mo{OV H$amb. 

 (4) Vw‘Mm Aem emóm§da {dœmg Zgë¶mMo gm§JV Ë¶mMr 
{dZ§Vr VmËH$mi KwS>H$mdyZ bmdmb. 

89. Situation : Government has formulated a policy to 

ensure that each family in rural area of the State should 

have a toilet as most of the diseases and epidemics are 

caused due to e-coli found in human excreta carried through 

the use of contaminated water. The loss of human life, 

mandays wasted and the loss of wages due to these ailments 

and expenditure required to be incurred on the treatment is 

enormous. The embarrassment to the female population is 

another factor, so also the village environmental pollution 

caused. The Supreme Court interpreted Right to life means 

life with dignity. In fact, human excreta, if treated 

scientifically, is a rich source of organic manure. In spite of 

these provisions and severe consequences the percentage of 

rural families having toilets is only 60% and out of these, 

who are actually using the toilets is only 50%. The failure is 

ascribed to the fact that toilet policy is "Construction 

oriented" and the element of educating and sensitizing the 

people as to the adverse effects of the non use of toilets is 

squarely missing. It is felt that a strong public education 

campaign is the need of the time. 

Question : If you are assigned a role of preparing a public 

awareness campaign, which of the following elements you 

would incorporate in order of priority in the design of the 

campaign? 

 (a) Regular use of toilet reduces health hazards of 

open defecation. 

 (b) Maintaining the ambience of the village. 

 (c) Maintaining the dignity of the human being, 

particularly women. 

 (d) Boost to farm productivity and economy. 

 (1) (a), (b), (c), (d) (2) (a), (c), (b), (d) 

 (3) (b), (c), (a), (d) (4) (d), (b), (c), (a) 
89. n[apñWVr : emgZmZo amÁ¶mVrb J«m‘rU ^mJmVrb àË¶oH$ 
Hw$Qw>§~mH$S>o em¡Mmb¶ Agmdo ¶mgmR>r YmoaU {Z{üV Ho$bo Amho, H$maU 
~hþVm§er amoJamB© Am{U gmWtMo amoJ ‘Zwî¶àmÊ¶mÀ¶m {dð>oV AmT>iyZ 
¶oUmao B©-H$mobr O§Vy nmÊ¶mV {‘giyZ Vo Xþ{fV Pmë¶mZo hmoV AgVmV. 
¶m amoJm§‘wio Or{dVhmZr, dm¶m OmUmao ‘Zwî¶{Xdg Am{U amoOJma hmZr 
VgoM Am¡fYmonMmamgmR>r hmoUmam IM© àM§S> AgVmo. ‘{hbm§Mr hmoUmar 
Hw§$M~Um hr EH$ ‘hÎdmMr ~m~ AmhoM. Ë¶mMà‘mUo JmdmVrb n¶m©daUhr 
Xÿ{fV hmoVo. OrdZmMm A{YH$ma åhUOo à{Vð>oZo OJUo Ago gdm}ƒ 
Ý¶m¶mb¶hr åhUVo. dñVwV: ‘Zwî¶{dð>m emómo³V nÕVrZo hmVmië¶mg 
Vmo g|{Ð¶ IVmMm EH$ ‘hÎdmMm ómoV Amho. Ago AgVmZmhr Am{U 
em¡Mmb¶ Z dmnaÊ¶mMo J§^ra n[aUm‘ hmoV AgyZhr em¡Mmb¶ AgUmè¶m 
amÁ¶mVrb J«m‘rU Hw$Qw>§~mMr g§»¶m 60 Q> o̧$ Amho d ¶m 60 Q>³³¶mn¡H$s 
50 Q>¸o$ Ë¶mMm àË¶j dmna H$aVmV. ¶m An¶emMo H$maU Oo gm§{JVbo 
OmVo Vo Ago H$s, emgZmMo em¡Mmb¶ ~m§YH$m‘ YmoaU ho “~m§YH$m‘ 
à{UV” AgyZ Ë¶m‘Ü¶o em¡Mmb¶mMm dmna Z Ho$ë¶m‘wio hmoUmè¶m J§^ra 
n[aUm‘m~m~V OZ‘mZgmV OmJ¥{V H$aUo dm Ë¶m§Zm {e{jV H$aUo ¶mMm 
A^md Amho. Ë¶m‘wio àIa bmoH${ejU A{^¶mZmMr AmO {ZVm§V 
Amdí¶H$Vm Amho Ago dmQ>Vo. 

àíZ : Oa Vwåhmbm Aem bmoH$ OmJ¥Vr A{^¶mZmMm T>mMm V¶ma 
H$aÊ¶mg gm§{JVë¶mg Ë¶m‘Ü¶o àmÜ¶mÝ¶H«$‘mZwgma AmnU H$moUVo g§Xoe 
A§V ŷ©V H$amb? 

 (a) em¡Mmb¶mÀ¶m {Z¶{‘V dmnam‘wio, CKS>çmda em¡Mmg 
~gÊ¶m‘wio, Amamo½¶mdarb hmoUmao KmVH$ n[aUm‘ H$‘r 
hmoVrb.  

 (b) JmdmVrb ñdÀN> dmVmdaU {Q>H$dyZ R>odVm ¶oB©b. 

 (c) ‘mZdr à{Vð>m, {deofV: ‘{hbm§Mr à{Vð>m amIVm ¶oB©b. 

 (d) H¥$fr CËnmXH$Vm d AW©ì¶dñWobm C^mar {‘iob. 

 (1) (a), (b), (c), (d) (2) (a), (c), (b), (d) 

 (3) (b), (c), (a), (d) (4) (d), (b), (c), (a) 
90. You are a government representative and a member of a 

committee that has been given responsibility of selecting 

young artists for awarding two year government 

scholarships. An influential artist of high reputation is also 

a member on this committee as an expert. After studying 

the shortlisted artists, for this prestigious state scholarship, 

another member brought to your notice that many artists are 

from the institute that is managed by this reputed artist or 

institutes that are managed by his past students. You would 

....... 
 (1) talk to the artist and request him to make 

selection criteria public for avoiding biased 

selection. 

 (2) maintain silence with respect to selection of 

awardees of this year and then publish the 

misdeeds of this person. 

 (3) halt the work of the committee by dissolving it 

immediately and form a new committee. 

 (4) request all the members of the present 

committee to go through the original list again 

and with unbiased approach freshly shortlist 

the candidates. 
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90. emgZ à{V{ZYr d g{‘Vr gXñ¶ åhUyZ XmoZ dfm©Mr gaH$mar 

{eî¶d¥Îmr XoÊ¶mgmR>r VéU H$bmH$mam§Mr {ZdS> H$aÊ¶mMr O~m~Xmar 

Vw‘À¶mda Amho. ~aoM àñW Agbobm EH$ ‘mÝ¶da H$bmH$mahr VÁk 

åhUyZ ¶m g{‘VrMm gXñ¶ Amho. ¶m à{Vð>oÀ¶m {eî¶d¥ÎmrgmR>rMr 

‘¶m©{XV ¶mXr Aä¶mgVmZm g{‘VrÀ¶m Xþgè¶m EH$m gXñ¶mZo Vw‘À¶m 

bjmV AmUyZ {Xbo H$s AZoH$ H$bmH$ma ho ¶m ‘mÝ¶da H$bmH$mamÀ¶m 

g§ñWoVrb AmhoV qH$dm Ë¶mÀ¶m ‘mOr {dÚmÏ¶mªÀ¶m g§ñWm§Vrb AmhoV. 

Vwåhr H$m¶ H$amb? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 (1) H$bmH$mamer ~mobmb d A§{V‘ {ZdS> ôX^mdahrV 
hmoÊ¶mgmR>r Ë¶m§Zm {ZdS>rMo {ZH$f Omhra H$aÊ¶mMr {dZ§Vr 
H$amb. 

 (2) ¶m dfuÀ¶m {eî¶d¥Îmr {‘imboë¶m§~m~V Jßn ahmb d Z§Va 
¶m ì¶³VrMr J¡aH¥$Ë¶o Omhra H$amb. 

 (3) g{‘Vr VËH$mi aÔ R>adyZ {VMo H$m‘ Wm§~dyZ Zì¶m 
g{‘VrMr aMZm H$amb. 

 (4) gÜ¶mÀ¶m g{‘VrÀ¶m gd© gXñ¶m§Zm ‘¶m©{XV ¶mXr 
H$aÊ¶mgmR>r dmnaboë¶m ‘yi ¶mXrMm nwZ:{d©Mma H$ê$Z 
ôX^md hmoUma Zmhr Aer H$miOr KoD$Z, Zdr ‘¶m©{XV 

¶mXr {dH${gV H$aÊ¶mMr {dZ§Vr H$amb. 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

 

 

Space for Rough Work  /  H$ÀÀ`m H$m_mgmR>r OmJm 
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : XmoZ Vmg                                                                                 A{YH$V_ JwU : 200 

gyMZm 

1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo 
AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U XmoZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 85 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma n`m©` {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo 
Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` 
n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b. H$moUË¶mhr n[apñWVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm 
¶oUma ZmhrV  

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n ©̀dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 

KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 85 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  
     OmB©b. àíZ H«$_m§H$ 85 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
10. ¶m àíZg§MmVrb ^mJ-2 ‘Ü¶o H$‘rV H$‘r 33 JwU {‘imë¶mgM ^mJ-1 Vnmgbm OmB©b Am{U A§{V‘ {ZdS> ¶mXr ^mJ-1 ‘Ü¶o {‘imboë¶m 

JwUm§ZwgmaM V¶ma Ho$br OmB©b ¶mMr Zm|X ¿¶mdr.    

11. `m narjoMm {ZH$mb Am_À`m www.yashada.org/acec `m do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.
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